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Chapter 03

Adjusting Accounts and Preparing Financial Statements


True / False Questions
 

[Question]

1. A company's fiscal year must correspond with the calendar year. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C1
 
[Question]

2. The time period principle assumes that an organization's activities can be divided into specific time periods. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C1
 
[Question]

3. Interim statements report a company's business activities for a 1-year period. 
Answer:  FALSE
 


Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

4. Adjusting entries are made after the preparation of financial statements. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C2
 
[Question]

5. Adjusting entries result in a better matching of revenues and expenses. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C2
 
[Question]

6. The matching principle and the full closure principle are the two main accounting principles used in accrual accounting.
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C2
 
[Question]

7. Adjusting entries are used to record the effects of internal economic (financial) transactions and events. 
TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

8. The matching principle requires that revenue not be assigned to the accounting period in which it is earned. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

9. The revenue recognition principle is the basis for making adjusting entries that pertain to unearned and accrued revenues. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
 [Question]

10. Under the cash basis of accounting, no adjustments are made for prepaid, unearned and accrued items. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

11. Since the revenue recognition principle requires that revenues be earned, there are no unearned revenues in accrual accounting. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

12. The matching principle requires that expenses get recorded in the same accounting period as the revenues that are earned as a result of the expenses, not when cash is paid. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

13. The cash basis of accounting is an accounting system in which revenues are reported when cash is received and expenses are reported when cash is paid. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

14. The cash basis of accounting requires that revenues be recognized when cash payments from customers are received. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

15. The accrual basis of accounting is an accounting system in which revenues are reported as earned when cash is received. 
Answer:  FALSE
 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

16. Recording revenues before they are earned overstates current-period income; recording revenues in periods after they have been earned understates the recording period’s income. 
Answer:  TRUE

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
 
[Question]

17. Prior to recording adjusting entries at the end of an accounting period, some accounts may not show proper financial statement amounts even though all transactions were correctly recorded. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
[Question]

18. A company paid $6,000 for a six-month insurance policy. The policy coverage began on February 1. On February 28, $100 of insurance expense must be recorded. 
Answer:  FALSE

Feedback: Expense = $6,000/6 = $1,000

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
[Question]

19. On October 15, a company received $15,000 cash as a down payment on a consulting contract. The amount was credited to Unearned Consulting Revenue. By October 31, 10% of the services required by the contract were completed. The company will record consulting revenue of $1,500 from this contract for October. 
Answer:  TRUE

Feedback: Revenue = $15,000 x 10% = $1,500

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
 
[Question]

20. The accrual basis of accounting is a system of accounting in which the adjustments are needed to assign revenues to periods in which they are earned and to match expenses with revenues. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
 
[Question]

21. The first five steps in the accounting cycle include analyzing transactions, journalizing, posting, preparing an unadjusted trial balance and recording adjusting entries. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C3
 
[Question]

22. The last four steps in the accounting cycle include preparing the adjusted trial balance, preparing financial statements and recording closing and adjusting entries. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C3
 
[Question]

23. A classified balance sheet organizes assets and liabilities into important subgroups that are not found on an unclassified balance sheet. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C4
 
[Question]

24. Current assets and current liabilities are expected to be used up or come due within one year or the company's operating cycle whichever is longer. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C4
 
[Question]

25. Intangible assets are long-term resources that benefit business operations, usually lack physical form and have uncertain benefits. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C4
 
[Question]

26. Plant assets and intangible assets are usually long-term assets that are used to produce or sell products and services. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C4
 
[Question]

27. Current liabilities include accounts receivable, unearned revenues and salaries payable. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C4
 
[Question]

28. For a corporation, the equity section is divided into two main accounts: Common Stock and Retained Earnings. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C4
 
[Question]

29. Before an adjusting entry is made to recognize insurance expired, Prepaid Insurance and Insurance Expense are both overstated. 
Answer:  FALSE

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A1
 
[Question]

30. Before an adjusting entry is made to accrue employee salaries, Salaries Expense and Salaries Payable are both understated. 
Answer:  TRUE

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A1
 
[Question]

31. Failure to record depreciation expense will overstate the asset and understate the expense. 
Answer:  TRUE

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

32. Profit margin can also be called return on sales. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-A2
 
[Question]

33. Profit margin is calculated by dividing net sales by net income. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A2
 
[Question]

34. Ben and Jerry's had total assets of $149,501,000, net income of $6,242,000 and net sales of $209,203,000. Its profit margin was 2.98%. 
Answer:  TRUE

Feedback: $6,242,000/$209,203,000 = 2.98%

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A2
 
[Question]

35. The current ratio is computed by dividing current liabilities by current assets. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-A3
 
[Question]

36. A contra account is an account linked with another account; it is added to that account to show the proper amount for the item recorded in the associated account. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

37. Accumulated depreciation is shown on the balance sheet as a subtraction from the cost of an asset. 
Answer:   TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

38. In accrual accounting, accrued revenues are recorded as liabilities. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

39. Depreciation expense is an example of an accrued expense. 
Answer:  FALSE
 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

40. Earned but uncollected revenues that are recorded during the adjusting process with a credit to a revenue account and a debit to an expense account are referred to as accrued expenses. 
Answer:  FALSE
 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

41. Net income for a period will be overstated if accrued salaries are not recorded at the end of the accounting period. 
Answer:  TRUE

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
 
 
[Question]

42. An unadjusted trial balance is a listing of accounts and their balances prepared before adjustments are recorded. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P2
 
[Question]

43. The account form of the balance sheet matches the accounting equation. That is, assets are on the left side of the statement and liabilities and equity are on the right side of the statement. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P3
 
[Question]

44. In preparing statements from the adjusted trial balance, the balance sheet must be prepared first. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]

45. An expense account is normally closed by debiting Income Summary and crediting the expense account. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P4
 
[Question]

46. The dividends account is normally closed by debiting it. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

47. The Income Summary account is closed to the retained earnings account. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

48. When expenses exceed revenues, there is a net loss and the Income Summary account would have a credit balance. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

49. The Income Summary account is used to close the permanent accounts at the end of an accounting period. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Med
Learning Objective: 03-P4
 
 
[Question]

50. A post-closing trial balance is a list of permanent accounts and their balances from the ledger after all closing entries are journalized and posted. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P5
 
[Question]

51. It is acceptable to record prepayment of expenses as debits to expense accounts. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P6
 
[Question]

52. It is acceptable to credit cash received in advance to revenue accounts when cash is received. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P6
 
[Question]

53. Adjustments must be entered in the journal and posted to the ledger after the work sheet is prepared. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P7
 
[Question]

54. All necessary numbers to prepare the income statement can be taken from the income statement columns of the work sheet, including the net income or net loss. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

55. If all columns balance upon completion of a work sheet, you can be sure that no errors were made in preparing the work sheet. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

56. Closing entries are normally entered in the general journal and then posted to the work sheet. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

57. Adjusting entries are normally entered in the general journal prior to being posted to the work sheet. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
 
[Question]

58. On the work sheet, net income is entered in the Income Statement Credit column as well as the Balance Sheet Debit column. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

59. Since it is an important financial statement, the trial balance must be prepared according to specified accounting procedures. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
 


Multiple Choice Questions
 

[Question]

60. Which of the following identifies the proper order of the accounting cycle? 
A. Analyze, Journalize, Unadjusted Trial Balance
B. Analyze, Post, Unadjusted Trial Balance
C. Journalize, Post, Adjusted Trial Balance
D. Unadjusted Trial Balance, Adjusted Trial Balance, Close
E. Adjusted Trial Balance, Adjustments, Financial Statements

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C1
 
[Question]

61. A broad principle that requires identifying the activities of a business with specific time periods such as months, quarters or years is the: 
A. Operating cycle of a business
B. Time period principle
C. Going-concern principle
D. Matching principle
E. Accrual basis of accounting

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

62. Interim financial statements refer to financial reports: 
A. That cover less than one year, usually spanning one, three or six-month periods
B. That are prepared before any adjustments have been recorded
C. That show the assets above the liabilities and the liabilities above the equity
D. Where revenues are reported on the income statement when cash is received and expenses are reported when cash is paid
E. Where the adjustment process is used to assign revenues to the periods in which they are earned and to match expenses with revenues

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

63. The 12-month period that ends when a company's activities are at their lowest point is called the: 
A. Fiscal year
B. Calendar year
C. Natural business year
D. Accounting period
E. Interim period

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

64. The length of time covered by a set of periodic financial statements is referred to as the: 
A. Fiscal cycle
B. Natural business year
C. Accounting period
D. Business cycle
E. Operating cycle

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

65. Western Company has an annual reporting period that runs from July 1st through 
June 30th. Based on this information which of the following is a true statement? 
A. Western probably has little seasonal variation in their sales
B. Western has violated the time period principle
C. Western must prepare financial statements as of December 31 each year
D. Western has adopted a fiscal year
E. Western does not have an accountant

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C1
 
[Question]

66. The accounting principle that requires revenue to be reported when earned is the: 
A. Matching principle
B. Revenue recognition principle
C. Time period principle
D. Accrual reporting principle
E. Going-concern principle

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C2
 
[Question]

67. Adjusting entries: 
A. Affect only income statement accounts
B. Affect only balance sheet accounts
C. Affect both income statement and balance sheet accounts
D. Affect only cash flow statement accounts
E. Affect only equity accounts

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C2
 
[Question]

68. The main purpose of adjusting entries is to: 
A. Record external transactions and events
B. Record internal transactions and events
C. Recognize assets purchased during the period
D. Recognize debts paid during the period
E. Correct errors

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

69. The broad principle that requires expenses to be reported in the same period as the revenues that were earned as a result of the expenses is the: 
A. Recognition principle
B. Cost principle
C. Cash basis of accounting
D. Matching principle
E. Time period principle

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
70. The system of preparing financial statements based on recognizing revenues when the cash is received and reporting expenses when the cash is paid is called: 
A. Accrual basis accounting
B. Operating cycle accounting
C. Cash basis accounting
D. Revenue recognition accounting
E. Current basis accounting

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

71. Which of the following accounts would not be impacted by adjusting journal entries? 
A. Accounts Receivable
B. Consulting Fee Earned
C. Unearned Consulting Fees
D. Cash
E. Wages Payable

Answer:  D

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A1
 
[Question]

72. The approach to preparing financial statements based on recognizing revenues when they are earned and matching expenses to those revenues is: 
A. Cash basis accounting
B. The matching principle
C. The time period principle
D. Accrual basis accounting
E. Revenue basis accounting

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

73. Prepaid expenses, depreciation, accrued expenses, unearned revenues and accrued revenues are all examples of: 
A. Items that require contra accounts
B. Items that require adjusting entries
C. Asset and equity
D. Asset accounts
E. Income statement accounts

Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

74. The accrual basis of accounting: 
A. Is generally accepted for external reporting since it is more useful for most business decisions
B. Is flawed because it gives complete information about cash flows
C. Recognizes revenues when received in cash
D. Recognizes expenses when paid in cash
E. Eliminates the need for adjusting entries at the end of each period

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
[Question]

75. Which of the following statements is incorrect? 
A. Prepaid expenses, depreciation and unearned revenues involve previously recorded assets and liabilities
B. Accrued expenses and accrued revenues involve assets and liabilities that were not previously been recorded
C. Adjusting entries can be used to record both accrued expenses and accrued revenues
D. Prepaid expenses, depreciation and unearned revenues often require adjusting entries to record the effects of the passage of time
E. Adjusting entries affect the cash account

Answer:  E

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C2
 
76. The recurring steps performed each accounting period, starting with analyzing and recording transactions in the journal and continuing through the post-closing trial balance, are referred to as the: 
A. Accounting period
B. Operating cycle
C. Accounting cycle
D. Closing cycle
E. Natural business year

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C3
 
[Question]

77. Which of the following is the usual final step in the accounting cycle? 
A. Journalizing transactions
B. Preparing an adjusted trial balance
C. Preparing a post-closing trial balance
D. Preparing the financial statements
E. Preparing a work sheet

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C3
 
78. Each letter below contains three of the steps found in the accounting cycle. Which presents the given steps in the proper sequence, first to last? 
A. Adjust, Analyze transactions, Close
B. Analyze transactions, Adjust, Close
C. Prepare post-closing trial balance, Prepare statements, Close
D. Prepare statements, Post, Close
E. Prepare adjusted trial balance, Journalize, Close

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C3
 
79. A classified balance sheet: 
A. Measures a company's ability to pay its bills on time
B. Organizes assets and liabilities into important subgroups
C. Presents revenues, expenses and net income
D. Reports operating, investing and financing activities
E. Reports the effect of profit and dividends on retained earnings

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C4
 
[Question]

80. The asset section of a classified balance sheet usually includes: 
A. Current assets, investments, plant assets and intangible assets
B. Current assets, long-term assets, revenues and intangible assets
C. Current assets, investments, plant assets and equity
D. Current liabilities, investments, plant assets and intangible assets
E. Current assets, liabilities, plant assets and intangible assets

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-C4
 
[Question]

81. What is the difference between GAAP and IFRS presentations of the current assets section on the balance sheet?
A. Under IFRS it is mandatory to present current assets first while under GAAP it is customary (but not required) to present noncurrent assets first.
B. Both IFRS and GAAP require that current assets are listed first
C. Under GAAP it is mandatory to present current assets first while under IFRS it is customary (but not required) to present noncurrent assets first.
D. It is customary (but not required) under both IFRS and GAAP to present noncurrent assets first
E. GAAP requires that current assets be presented first while IFRS requires that current assets be presented last

Answer:  C

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Global
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-C4
 
[Question]

82. IFRS tends to be more principles-based compared to GAAP which is viewed as more rules-based.  Which of the following is a true statement about a principles-based system?
A. A principles-based system eliminates the need for internal controls
B. A principles-based system is significantly weaker than a rules-based system
C. A principles-based system will eliminate all fraud
D. A principles-based system is a way to calculate interest receivable or payable
E. A principles-based system depends heavily on control procedures to reduce the potential for fraud or misconduct.

Answer:  E

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Global
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-C4
 
[Question]

83. Due to an oversight, a company made no adjusting entry for accrued and unpaid employee wages of $24,000 on December 31. This oversight would: 
A. Understate net income by $24,000
B. Overstate net income by $24,000
C. Have no effect on net income
D. Overstate assets by $24,000
E. Understate assets by $24,000

Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A1
 
[Question]

84. If a company forgot to record depreciation on office equipment at the end of an accounting period, the financial statements prepared at that time would show: 
A. Assets overstated and equity understated
B. Assets and equity both understated
C. Assets overstated, net income understated and equity overstated
D. Assets, net income and equity understated
E. Assets, net income and equity overstated

Answer:  E

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A1
 
85. If a company failed to make the end-of-period adjustment to remove the amount earned from the Unearned Management Fees account, there would be: 
A. An overstatement of net income
B. An overstatement of assets
C. An overstatement of liabilities
D. An overstatement of equity
E. An understatement of liabilities

Answer:  C

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

86. A company records the fees for legal services paid in advance by its clients in an account called Unearned Legal Fees. If the company fails to make the end-of-period adjusting entry to record the portion of these fees that has been earned, one effect will be: 
A. An overstatement of equity
B. An understatement of equity
C. An understatement of assets
D. An understatement of liabilities
E. An overstatement of assets

Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

87. A publishing company records the subscriptions paid in advance by its customers in an account called Unearned Subscription Revenue. If the company fails to make the end-of-period adjusting entry to record the portion of the subscriptions that have been earned, one effect will be: 
A. An overstatement of equity
B. An overstatement of liabilities
C. An understatement of assets
D. An understatement of liabilities
E. An overstatement of assets

Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

88. Profit margin is defined as: 
A. Revenues divided by net sales
B. Net sales divided by assets
C. Net income divided by net sales
D. Net income divided by assets
E. Assets divided by net sales

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-A2
 
[Question]

89. A company earned $2,000 in net income for October. Its net sales for October were $10,000. Its profit margin is: 
A. 2%
B. 20%
C. 200%
D. 500%
E. $8,000

Answer:  B

Feedback: $2,000/$10,000 = 20%

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-A2
 
[Question]

90. Which of the following accounts would be closed at the end of the accounting period? 
A. Accounts Receivable
B. Unearned Consulting Fees
C. Fees Earned
D. Retained Earnings
E. Land

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

91. A company had $7,000,000 in net income for the year. Its net sales were $11,200,000 for the same period. Calculate its profit margin. 
A. 17.5%
B. 28%
C. 62.5%
D. 160%
E. $18.2 million

Answer:  C

Feedback: $7,000,000/$11,200,000 = 62.5%

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A2
 
[Question]

92. Compute profit margin ratio given the following information. 
Cost of Goods Sold $28,000
Net Income 21,400
Gross Profit 400,000 
A. 5%
B. 7%
C. 1.65%
D. 6.64%
E. 76.42%

Answer:  A

Feedback: Gross Profit + Cost of Goods Sold = Net Sales

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A2
 
[Question]

93. Compute profit margin ratio given the following information. 
Cost of Goods Sold $53,000
Net Income 60,000
Gross Profit 800,000 
A. 6.63%
B. 7.03%
C. 93.8%
D. 6.2%
E. 88.33%

Answer:  B

Feedback: Gross Profit + Cost of Goods Sold = Net Sales

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-A2
 
[Question]

94. The current ratio: 
A. Is used to measure a company's profitability
B. Is used to measure the relation between assets and long-term debt
C. Measures the effect of operating income on profit
D. Is used to help evaluate a company's ability to pay its short-term obligations
E. Is calculated by dividing current assets by equity

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A3
 
[Question]

95. Which of the following accounts would not be on the post closing trial balance? 
A. Accounts Payable
B. Accounts Receivable
C. Common Stock
D. Dividends
E. Retained Earnings 

Answer:  D

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4
 
 [Question]

96. On June 30, 2011, Apricot Co. paid $5,000 cash for management services to be performed over a two-year period. Apricot follows a policy of recording all prepaid expenses to asset accounts at the time of cash payment.

 On June 30, 2011 Apricot should record: 
A. A credit to an expense for $5,000
B. A debit to an expense for $5,000
C. A credit to a prepaid expense for $5,000
D. A debit to a prepaid expense for $5,000
E. A debit to Cash for $5,000

Answer:  D

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

97. On June 30, 2011, Apricot Co. paid $5,000 cash for management services to be performed over a two-year period. Apricot follows a policy of recording all prepaid expenses to asset accounts at the time of cash payment.

The adjusting entry on December 31, 2011 for Apricot would include: 

A. A debit to an expense for $1,250
B. A debit to a prepaid expense for $1,250
C. A credit to an expense for $3,750
D. A debit to a prepaid expense for $3,750
E. A credit to a liability for $1,250

Answer:  A

Feedback: $5,000 x 6/24 = $1,250

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

98. Which of the following is true of accrued revenues: 
A. At the end of one accounting period often result in cash receipts from customers in the next period
B. At the end of one accounting period often result in cash payments in the next period
C. Are also called unearned revenues
D. Are listed on the balance sheet as liabilities
E. Are recorded at the end of an accounting period because cash has already been received for revenues earned

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

99. An account linked with another account that has an opposite normal balance and that is subtracted from the balance of the related account is a(n): 
A. Accrued expense
B. Contra account
C. Accrued revenue
D. Intangible asset
E. Adjunct account

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

100. The total amount of depreciation recorded against an asset or group of assets during the entire time the asset or assets have been used in the day to day operations of the business: 
A. Is referred to as depreciation expense
B. Is referred to as accumulated depreciation
C. Is shown on the income statement of the final period
D. Is only recorded when the asset is disposed of
E. Is referred to as an accrued asset

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

101. The periodic expense created by allocating the cost of plant and equipment to the periods in which they are used, representing the expense of using the assets is called: 
A. Accumulated depreciation
B. A contra account
C. The matching principle
D. Depreciation
E. An accrued account

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

102. Prior to recording adjusting entries, the Office Supplies account had a $359 debit balance. A physical count of the supplies showed $105 of unused supplies available. The required adjusting entry is: 
A. Debit Office Supplies $105 and credit Office Supplies Expense $105
B. Debit Office Supplies Expense $105 and credit Office Supplies $105
C. Debit Office Supplies Expense $254 and credit Office Supplies $254
D. Debit Office Supplies $254 and credit Office Supplies Expense $254
E. Debit Office Supplies $105 and credit Supplies Expense $254

Answer:  C

Feedback: $359 - $105 = $254 The amount which has been consumed.

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

103. If throughout an accounting period the fees for legal services paid in advance by clients are recorded in an account called Unearned Legal Fees, the end-of-period adjusting entry to record the portion of those fees that has been earned is: 
A. Debit Cash and credit Legal Fees Earned
B. Debit Cash and credit Unearned Legal Fees
C. Debit Unearned Legal Fees and credit Legal Fees Earned
D. Debit Legal Fees Earned and credit Unearned Legal Fees
E. Debit Unearned Legal Fees and credit Accounts Receivable

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

104. On April 1, 2011, a company paid the $1,350 premium on a three-year insurance policy with benefits beginning on that date. What will be the insurance expense on the annual income statement for the year ended December 31, 2011? 
A. $1,350
B. $450
C. $1,012.50
D. $337.50
E. $37.50

Answer:  D

Feedback: $1,350 x 9/36 = $337.50

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

105. A company had no office supplies available at the beginning of the year. During the year, the company purchased $250 worth of office supplies. On December 31, $75 worth of office supplies remained. How much should the company report as office supplies expense for the year? 
A. $75
B. $125
C. $175
D. $250
E. $325

Answer:  C

$250 - $75 = $175

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
106. On January 1 a company purchased a five-year insurance policy for $1,800 with coverage starting immediately. If the purchase was recorded in the Prepaid Insurance account and the company records adjustments only at year-end, the adjusting entry at the end of the first year is: 
A. Debit Prepaid Insurance, $1,800; credit Cash, $1,800
B. Debit Prepaid Insurance, $1,440; credit Insurance Expense, $1,440
C. Debit Prepaid Insurance, $360; credit Insurance Expense, $360
D. Debit Insurance Expense, $360; credit Prepaid Insurance, $360
E. Debit Insurance Expense, $360; credit Prepaid Insurance, $1,440

Answer:  D

$1,800/5 years = $360 the amount of prepaid which has expired

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

107. Unearned revenue is reported on the financial statements as: 
A. A revenue on the balance sheet
B. A liability on the balance sheet
C. An unearned revenue on the income statement
D. An asset on the balance sheet
E. An operating activity on the statement of cash flows

Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

108. Which of the following assets is not depreciated? 
A. Store fixtures
B. Computers
C. Land
D. Buildings
E. Vehicles

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

109. Which of the following does not require an adjusting entry at year-end? 
A. Accrued interest on notes payable
B. Supplies used during the period
C. Cash investments by stockholders
D. Accrued wages
E. Expired portion of prepaid insurance

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

110. On April 30, 2011, a three-year insurance policy was purchased for $18,000 with coverage to begin immediately. What is the amount of insurance expense that would appear on the company's income statement for the year ended December 31, 2011? 
A. $500
B. $4,000
C. $6,000
D. $14,000
E. $18,000

Answer:  B

Feedback: $18,000 x 8/36 = $4,000

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]
111. ABC Co. leased a portion of its store to another company for eight months beginning on October 1, 2011 at a monthly rate of $800. This other company paid the entire $6,400 cash on October 1, which ABC Co. recorded as unearned revenue. The journal entry made by ABC Co. at year-end on December 31, 2011 would include: 
A. A debit to Rent Earned for $2,400
B. A credit to Unearned Rent for $2,400
C. A debit to Cash for $6,400
D. A credit to Rent Earned for $2,400
E. A debit to Unearned Rent for $4,000

Answer:  D

Feedback: $6,400 x 3/8 = $2,400

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

112. On May 1, 2011, Giltus Advertising Company received $1,500 from Julie Bee for advertising services to be completed April 30, 2012. The cash receipt was recorded as unearned fees. At December 31, 2011, $500 of the fees had been earned. The adjusting entry on December 31, 2011 should include: 
A. A debit to Unearned Fees for $500
B. A credit to Unearned Fees for $500
C. A credit to Earned Fees for $1,000
D. A debit to Earned Fees for $1,000
E. A debit to Earned Fees for $500

Answer:  A

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

113. Expenses incurred but unpaid  that are recorded during the adjusting process with a debit to an expense and a credit to a liability are: 
A. Intangible expenses
B. Prepaid expenses
C. Unearned expenses
D. Net expenses
E. Accrued expenses

Answer:  E

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

114. The adjusting entry to record the earned but unpaid salaries of employees at the end of an accounting period is: 
A. Debit Unpaid Salaries and credit Salaries Payable
B. Debit Salaries Payable and credit Salaries Expense
C. Debit Salaries Expense and credit Cash
D. Debit Salaries Expense and credit Salaries Payable
E. Debit Cash and credit Salaries Expense

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

115. A company pays each of its two office employees each Friday at the rate of $100 per day each for a five-day week that begins on Monday. If the monthly accounting period ends on Tuesday and the employees worked on both Monday and Tuesday, the month-end adjusting entry to record the salaries earned but unpaid is: 
A. Debit Unpaid Salaries $600 and credit Salaries Payable $600
B. Debit Salaries Expense $400 and credit Salaries Payable $400
C. Debit Salaries Expense $600 and credit Salaries Payable $600
D. Debit Salaries Payable $400 and credit Salaries Expense $400
E. Debit Salaries Expense $400 and credit Cash $400

Answer:  B

Feedback: 2 employees x 2 days x $100/employee/day = $400

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

116. On January 1, Denton Mabrey College received $1,200,000 in Unearned Tuition Revenue from its students for the spring semester, which spans four months beginning on January 2. What amount of tuition revenue should the college recognize on January 31? 
A. $300,000
B. $600,000
C. $800,000
D. $900,000
E. $1,200,000

Answer:  A

Feedback: $1,200,000/4 = $300,000

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

117. An adjusting entry was made on December 31, 2011 to accrue a salary expense of $1,200. Which of the following entries would be prepared to record the next payment of salaries on January, 2012 in the amount of $3,000? 
A. 

	Salaries Expense
	3,000
	

	     Cash
	
	3,000


 
B.  

	Salaries Payable
	3,000
	

	     Cash
	
	3,000



C. 

	Salaries Payable
	1,200
	

	     Cash
	
	1,200


 
D. 

	Salaries Expense
	1,200
	

	     Salaries Payable
	
	1,200


 
E. 

	Salaries Payable
	1,200
	

	Salaries Expense
	1,800
	

	     Cash
	
	3,000


Answer:  E

Feedback: $3,000 (total) - $1,200 (accrued) = $1,800 expense

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

118. The difference between the cost of an asset and the accumulated depreciation for that asset is called 
A. Depreciation Expense
B. Unearned Depreciation
C. Prepaid Depreciation
D. Depreciation Value
E. Book Value

Answer:  E

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

119. A company purchased a new truck at a cost of $42,000 on July 1, 2011. The truck is estimated to have a useful life of 6 years and a salvage value of $3,000. How much depreciation expense will be recorded for the truck for the year ended December 31, 2011? 
A. $3,250
B. $3,500
C. $4,000
D. $6,500
E. $7,000

Answer:  A

Feedback: [$42,000 - $3,000/6] x 1/2 = $3,250

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

120. A company's Office Supplies account shows a beginning balance of $600 and an ending balance of $400. If office supplies expense for the year is $3,100, what amount of office supplies was purchased during the period? 
A. $2,700
B. $2,900
C. $3,300
D. $3,500
E. $3,700

Answer:  B

Feedback: $600 + Supplies Purchased - $3,100 = $400

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

121. If a company records prepayment of expenses in an asset account, the adjusting entry would: 
A. Result in a debit to an expense and a credit to an asset account
B. Cause an adjustment to prior expense to be overstated and assets to be understated
C. Cause an accrued liability account to exist
D. Result in a debit to a liability and a credit to an asset account
E. Decrease cash

Answer:  A

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

122. A company recorded 2 days of accrued salaries of $1,400 for its employees on January 31. On February 9, it paid its employees for these accrued salaries and for other salaries earned through February 9. The January 31 and February 9 journal entries are: 
A

	1/31
	Salaries Expense
	1,400
	

	
	     Salaries Payable
	
	1,400

	2/9
	Salaries Payable
	7,000
	

	
	Salaries Expense
	1,400
	

	
	     Cash
	
	7,000


B. 

	1/31
	Salaries Payable
	1,400
	

	
	     Salaries Expense
	
	1,400

	2/9
	Salaries Expense
	5,600
	

	
	Salaries Payable
	1,400
	

	
	     Cash
	
	7,000


C. 

	1/31
	Salaries Expense
	1,400
	

	
	     Cash
	
	1,400

	2/9
	Salaries Expense
	7,000
	

	
	     Cash
	
	7,000


D. 

	1/31
	Salaries Expense
	1,400
	

	
	     Salaries Payable
	
	1,400

	2/9
	Salaries Expense
	7,000
	

	
	     Cash
	
	7,000


E. 

	1/31
	Salaries Expense
	1,400
	

	
	     Salaries Payable
	
	1,400

	2/9
	Salaries Expense
	5,600
	

	
	Salaries Payable
	1,400
	

	
	     Cash
	
	7,000


Answer:  E

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

123. If accrued salaries were recorded on December 31 with a credit to Salaries Payable, the entry to record payment of these wages on the following January 5 would include: 
A. A debit to Cash and a credit to Salaries Payable
B. A debit to Cash and a credit to Prepaid Salaries
C. A debit to Salaries Payable and a credit to Cash
D. A debit to Salaries Payable and a credit to Salaries Expense
E. No entry would be necessary on January 5

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

124. On December 31, the balance in the Prepaid Insurance account was $4,500, which is the remaining balance of a twelve-month policy purchased on October 31 in the current year. How much did this policy originally cost? 
A. $5,400
B. $3,750
C. $4,909
D. $4,500
E. $6,000

Answer:  A

Feedback: Two months have expired, the remaining balance covers ten more months. $4,500/10 = $450 per month

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

125. On December 31, the balance in the Prepaid Subscription account was $648. This is the remaining balance of a twelve-month subscription purchased on September 30 in the current year. How much did this subscription originally cost? 
A. $72
B. $648
C. $7,776
D. $864
E. $1,512

Answer:  D

Feedback: 3 months have expired, the remaining balance covers 9 more months. $648/9 = $72 per month

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]
126. On December 31, the balance in the Prepaid Advertising account was $176,000, which is the remaining balance of a twelve-month advertising campaign purchased on August 31 in the current year. Assuming the cost is spread equally over each month how much did this advertising campaign cost in total? 
A. $286,000
B. $176,000
C. $264,000
D. $154,000
E. $22,000
Answer:  C
Feedback: 4 months have expired, the remaining balance covers 8 more months. $176,000/8 = $22,000 per month

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

127. Which of the following statements is incorrect? 
A. An income statement reports revenues earned less expenses incurred
B. An unadjusted trial balance shows the account balances after they have been revised to reflect the effects of end-of-period adjustments
C. Interim financial reports can be based on one-month or three-month accounting periods
D. The fiscal year is any 12 consecutive months (or 52 weeks) used by a business as its annual accounting period
E. Property, plant and equipment are referred to as plant assets

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P2
 
[Question]

128. A trial balance prepared after adjustments have been recorded is called a(n): 
A. Balance sheet
B. Adjusted trial balance
C. Unadjusted trial balance
D. Classified balance sheet
E. Unclassified balance sheet

Answer:  B 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P2
 
[Question]

129. A trial balance prepared before any adjustments have been recorded is: 
A. An adjusted trial balance
B. Used to prepare financial statements
C. An unadjusted trial balance
D. Correct with respect to proper balance sheet and income statement amounts
E. Only prepared once a year

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P2
 
[Question]

130. The adjusted trial balance contains information pertaining to: 
A. Asset accounts only
B. Balance sheet accounts only
C. Income statement accounts only
D. All general ledger accounts
E. Revenue accounts only

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P2
 
[Question]

131. Financial statements are typically prepared in the following order: 
A. Balance sheet, statement of retained earnings, income statement
B. Statement of retained earnings, balance sheet, income statement
C. Income statement, balance sheet, statement of retained earnings
D. Income statement, statement of retained earnings, balance sheet
E. Balance sheet, income statement, statement of retained earnings

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P3
 
[Question]

132. A balance sheet that places the assets above the liabilities and equity is called a(n): 
A. Report form balance sheet
B. Account form balance sheet
C. Classified balance sheet
D. Unadjusted balance sheet
E. Unclassified balance sheet

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]

133. Which of the following statements regarding financial statement preparation is false? 
A. Financial statements can be prepared from information in the adjusted trial balance
B. The Sarbanes-Oxley Act requires that financial statements filed with the Securities and Exchange Commission include declarations by the CEO and CFO of the company
C. It makes sense to prepare the balance sheet first because it contains information needed on the income statement
D. When preparing financial statements an adjusted trial balance is easier to work with than the entire ledger
E. The income statement is prepared first.

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Legal
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P3
 
[Question]

134. The special account used only in the closing process to temporarily hold the amounts of revenues and expenses before the net difference is added to (or subtracted from) the retained earnings account is the: 
A. Income Summary account
B. Closing account
C. Balance column account
D. Contra account
E. Nominal account

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

135. Awn Services paid a dividend of $8,700 during the current year. The entry to close the dividend account at the end of the year is: 

A. 

	Dividends
	8,700
	

	     Cash
	
	8,700


 
B. 

	Retained earnings
	8,700
	

	     Dividends
	
	8,700


 
C. 

	Dividends
	8,700
	

	     Retained earnings
	
	8,700


 
D.  

	Common Stock
	8,700
	

	     Dividends
	
	8,700



E. 

	Income Summary
	8,700
	

	     Retained earnings
	
	8,700


Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

136. A company had revenues of $75,000 and expenses of $62,000 for the accounting period. Which of the following entries could not be a closing entry? 
A. 

	Income Summary
	13,000
	

	     Retained earnings
	
	13,000


 
B. 

	Income Summary
	75,000
	

	     Revenues
	
	75,000


 
C. 

	Revenues
	75,000
	

	     Income Summary
	
	75,000


 
D. 

	Expenses
	62,000
	

	     Income Summary
	
	62,000


 
E. All of the above are possible closing entries

Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

137. The following information is available for the Travis Travel Agency. After the closing entries have been journalized and posted, what will be the balance in the Retained Earnings account?
 

	Total revenues
	$125,000

	Total expenses
	60,000

	Retained earnings
	80,000

	Dividends
	15,000


  
A. $65,000
B. $80,000
C. $130,000
D. $145,000
E. $280,000

Answer:  C

Feedback: $80,000 + $125,000 - $60,000 - $15,000 = $130,000

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

138. The Retained Earnings account has a credit balance of $17,000 before closing entries are made. If total revenues for the period are $55,200, total expenses are $39,800 and dividends are $9,000, what is the ending balance in the Retained Earnings account after all closing entries are made? 
A. $8,000
B. $15,400
C. $23,400
D. $17,000
E. $32,400

Answer:  C

Feedback: $17,000 + $55,200 - $39,800 - $9,000 = $23,400

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

139. The Income Summary account is used: 
A. To adjust and update asset and liability accounts
B. To close the revenue and expense accounts
C. To determine the appropriate dividend amount
D. In some situations to replace the income statement 
E. To replace the retained earnings account in some businesses

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

140. Kader Co. paid a total of $35,000 in dividends during the current year. The entry needed to close the dividends account is: 
A. Debit Income Summary and credit Cash for $35,000
B. Debit Dividends and credit Cash for $35,000
C. Debit Income Summary and credit Dividends for $35,000
D. Debit Retained Earnings and credit Dividends for $35,000
E. Debit Dividends and credit Retained earnings for $35,000

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

141. A company's ledger accounts and their end-of-period balances before closing entries are posted are shown below. What amount will be posted to Retained Earnings in the process of closing the Income Summary account? (Assume all accounts have normal balances.)
 

	Retained earnings
	$ 7,000

	Dividends
	9,600

	Revenue
	29,000

	Rent expense
	3,600

	Salaries expense
	7,200

	Insurance expense 
	920

	Depr. Expense – equipment
	500

	Accum depr. – equipment
	1,500


  
A. $16,780 debit
B. $7,180 credit
C. $16,780 credit
D. $18,280 credit
E. $23,780 credit


Answer:  C

Feedback: Items closed to Income Summary:

	$29,000
	Credit

	3,600
	Debit

	7,200
	Debit

	920
	Debit

	500
	Debit

	$16,780
	credit, closed with a debit of $16,780; credit to Retained earnings


 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4
 
[Question]

142. Shown below are a company's ledger accounts and their end-of-period balances before closing entries are posted. What amount will be posted to Retained Earnings in the process of closing the Income Summary account? (Assume all accounts have normal balances.)
   

	Retained earnings
	$ 14,000

	Dividends
	19,200

	Sales Revenue
	58,000

	Rent expense
	7,200

	Salaries expense
	14,400

	Insurance expense
	840

	Depr. Expense – equipment
	900

	Accum depr. - equipment
	2,500



A. $16,780 debit
B. $15,460 credit
C. $48,660 credit
D. $34,660 credit
E. $17,960 credit


Answer: D

Feedback:  Items closed to Income Summary:

	$58,000
	Credit

	7,200
	Debit

	14,400
	Debit

	840
	Debit

	900
	Debit

	$34,660
	credit, closed with a debit of $34,660; credit to Retained earnings


 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4
 
[Question]

143. A trial balance prepared after the closing entries have been journalized and posted is the: 
A. Unadjusted trial balance
B. Post-closing trial balance
C. General ledger
D. Adjusted trial balance
E. Work sheet

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P5
 
[Question]

144. An error is indicated if the following account has a balance appearing on the post-closing trial balance: 
A. Office Equipment
B. Accumulated Depreciation-Office Equipment
C. Depreciation Expense-Office Equipment
D. Common Stock
E. Salaries Payable

Answer:  C

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P5
 
[Question]

145. A post-closing trial balance includes: 
A. All ledger accounts with balances, none of which can be temporary accounts
B. All ledger accounts with balances, none of which can be permanent accounts
C. All ledger accounts with balances, which include some temporary and some permanent accounts
D. Only revenue and expense accounts
E. Only asset accounts

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P5
 
[Question]

146. Which of the following statements is true? 
A. Retained earnings must be closed each accounting period
B. A post-closing trial balance should include only permanent accounts
C. Information on the work sheet can be used in place of preparing financial statements
D. By using a work sheet to prepare adjusting entries you need not post these entries to the ledger accounts
E. Closing entries are only necessary if errors have been made

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P5
 
[Question]

147. A post-closing trial balance is prepared 
A. Immediately after all closing entries have been recorded and posted
B. Immediately before all closing entries have been recorded and posted
C. Immediately before a business ceases to exist
D. Immediately before a business starts operations
E. At different times in the accounting cycle depending on the nature of the business and the complexity of the accounting records

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P5
 
[Question]

148. Under the alternative method for accounting for unearned revenues, which of the following pairs of journal entry formats is correct?  

	Initial Entry
	Adjusting Entry


  
A. 

	Cash
	Unearned Consulting Revenue

	     Unearned Consulting Revenue
	     Consulting Revenue


 
B. 

	Cash
	Consulting Revenue

	     Consulting Revenue
	     Unearned Revenue



C. 

	Cash
	Unearned Revenue

	     Unearned Revenue
	     Cash



D. 

	Consulting Revenue
	Unearned Revenue

	     Cash
	     Consulting Revenue



E. 

	Cash
	Consulting Revenue

	     Unearned Revenue
	     Unearned Revenue


A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P6
 
[Question]

149. Under the alternative method for recording prepaid expenses, which is the correct set of journal entries?
 

	Initial Entry
	Adjusting Entry


  
A.  

	Insurance Expense
	Prepaid Insurance

	     Cash
	     Insurance Expense



B. 

	Cash
	Prepaid Insurance

	     Insurance Expense
	     Insurance Expense



C. 

	Prepaid Expense
	Prepaid Insurance

	     Cash
	     Insurance Expense



D. 

	Prepaid Expense
	Insurance Expense

	     Cash
	     Prepaid Insurance



E. 

	Prepaid Expense
	Cash

	     Insurance Expense
	     Prepaid Insurance


A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P6
 
[Question]

150. The alternative method of accounting for prepayments 
A. Initially records all prepaid expenses with debits to expense accounts
B. Initially records all prepaid expenses with credits to expense accounts
C. Requires an adjusting entry because expenses are understated
D. Requires an adjusting entry if the prepaid is consumed during the period
E. Requires an adjusting entry because net income is understated

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P6
 
[Question]

151. The Unadjusted Trial Balance columns of a company's work sheet show the balance in the Office Supplies account as $750. The Adjustments columns show that $425 of these supplies were used during the period. The amount shown as Office Supplies in the Balance Sheet columns of the work sheet is: 
A. $325 debit
B. $325 credit
C. $425 debit
D. $750 debit
E. $750 credit

Answer:  A

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Easy
Learning Objective: 03-P7
 
[Question]

152. A 10-column spreadsheet used to draft a company's unadjusted trial balance, adjusting entries, adjusted trial balance and financial statements and which is an optional tool in the accounting process is a(n): 
A. Adjusted trial balance
B. Work sheet
C. Post-closing trial balance
D. Unadjusted trial balance
E. General ledger

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

153. Accumulated Depreciation, Accounts Receivable and Service Fees Earned would be sorted to which respective columns in completing a work sheet? 
A. Balance Sheet-Credit; Balance Sheet Debit; and Income Statement-Credit
B. Balance Sheet-Debit; Balance Sheet and Income Statement-Credit
C. Income Statement-Debit; Balance Sheet-Debit; and Income Statement-Credit
D. Income Statement-Debit; Income Statement-Debit; and Balance Sheet-Credit
E. Balance Sheet-Credit; Income Statement-Debit; and Income Statement-Credit

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

154. Which of the following statements is incorrect? 
A. Working papers are useful aids in the accounting process
B. On the work sheet, the effects of the accounting adjustments are shown on the account balances
C. After the work sheet is completed, it can be used to help prepare the financial statements
D. On the work sheet, the adjusted amounts are sorted into columns according to whether the accounts are used in preparing the unadjusted trial balance or the adjusted trial balance
E. A worksheet is not a substitute for financial statements

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

155. A company shows a $600 balance in Prepaid Insurance in the Unadjusted Trial Balance columns of the work sheet. The Adjustments columns show expired insurance of $200. This adjusting entry results in: 
A. $200 less in net income
B. $200 more in net income
C. $200 difference between the debit and credit columns of the Unadjusted Trial Balance
D. $200 of prepaid insurance
E. An error in the financial statements

Answer:  A

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

156. Statements that show the effects of proposed transactions as if the transactions had already occurred are called: 
A. Pro forma statements
B. Professional statements
C. Simplified statements
D. Temporary statements
E. Interim statements

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

157. When preparing a work sheet an adjusted trial balance amount is mistakenly sorted to the wrong work sheet column. The Balance Sheet columns will balance on completing the work sheet but with the wrong net income, if the amount sorted in error is: 
A. An expense amount placed in the Balance Sheet Credit column
B. A revenue amount placed in the Balance Sheet Debit column
C. A liability amount placed in the Income Statement Credit column
D. An asset amount placed in the Balance Sheet Credit column
E. A liability amount placed in the Balance Sheet Debit column

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

158. If the Balance Sheet columns of a work sheet fail to balance when the amount of the net income is added to the Balance Sheet Credit column, the cause could be: 
A. An expense amount entered in the Balance Sheet Debit column
B. A revenue amount entered in the Balance Sheet Credit column
C. An asset amount entered in the Income Statement Debit column
D. A liability amount entered in the Income Statement Credit column
E. An expense amount entered in the Balance Sheet Credit column

Answer:  E

 

Bloom’s Taxonomy: Apply
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

159. The following items appeared on a company's December 31 work sheet for the current period. Based on the following information, what is net income for the current period?
 

	
	Unadjusted
	
	

	
	Trial Balance
	Adjustments

	
	Debit
	Credit
	Debit
	Credit

	Cash
	975
	
	
	

	Prepaid insurance
	3,600
	
	
	150

	Supplies
	180
	
	
	70

	Equipment
	10,320
	
	
	

	Accounts payable
	
	1,140
	
	

	Unearned fees
	
	4,500
	375
	

	Common stock
	
	5,000
	
	

	Retained earnings
	
	4,180
	
	

	Dividends
	1,650
	
	
	

	Fees earned
	
	5,850
	
	375

	
	
	
	
	300

	Rent expense
	1,200
	
	
	

	Salaries expense
	2,400
	
	315
	

	Utilities expense
	345
	_____
	
	

	Insurance expense
	
	
	150
	

	Supplies expense
	
	
	70
	

	Depreciation expense – equipment
	
	
	190
	

	Accumulated depreciation – equipment
	
	
	
	190

	Salaries payable
	
	
	
	315

	Accounts receivable
	
	
	300
	_____

	Totals
	20,670
	20,670
	1,400
	1,400


  
A. $1,400
B. $1,855
C. $1,905
D. $2,060
E. $4,670

Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

160. Which of the following errors would cause the Balance Sheet columns of a work sheet to be out of balance? 
A. Entering an asset amount in the Income Statement Debit column
B. Entering a liability amount in the Income Statement Credit column
C. Entering an expense amount in the Balance Sheet Debit column
D. Entering a revenue amount in the Balance Sheet Debit column
E. Entering a liability amount in the Balance Sheet Credit column

Answer:  D

 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

161. The Unadjusted Trial Balance columns of a work sheet total $84,000. The Adjustments columns contain entries for the following: 
Office supplies used during the period, $1,200. 
Expiration of prepaid rent, $700. 
Accrued salaries expense, $500. 
Depreciation expense, $800. 
Accrued service fees receivable, $400. 
The Adjusted Trial Balance columns total is: 
A. $80,400
B. $84,000
C. $85,700
D. $85,900
E. $87,600

Answer:  C

Feedback:

	
	Debit
	Credit

	Balance
	$84,000
	$84,000

	1.
	Supplies Expense
	$1,200
	

	
	Supplies 
	(1,200)
	

	2.
	Rent Expense
	700
	

	
	Prepaid rent
	(700)
	

	3.
	Salaries Expense
	500
	

	
	Salaries payable
	
	500

	4.
	Depr. Expense
	800
	

	
	Accum. Depr
	
	800

	5. 
	Accts. Receivable
	400
	

	
	Fees earned
	_______
	400

	Adjusted total
	$85,700
	$85,700


 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P7


 [Question]

162.  On January 1, Able Company purchased equipment costing $135,000 with an estimated salvage value of $10,500, and an estimated useful life of five years.  What is the amount that should be recorded as depreciation on December 31?

A.  $27,000

B. $24,900

C. $29,100

D. $135,000

E. $10,500

Answer:  B  
Feedback: 135,000-10,500 = 124,500/5 = $24,900

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1

 [Question]

163.  On January 1, Able Company purchased equipment costing $195,000 with an estimated salvage value of $15,000, and an estimated useful life of eight years.  What is the amount that should be recorded as depreciation on December 31?

A.  $22,900

B. $26,250

C. $22,500

D. $195,000

E. $180,000

Answer: C 
Feedback:  195,000-15,000 = 180,000/8 = $22,500

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1

[Question]

164.  A company had revenue of $250,000, rent expense of $10,000, utility expense of $3,500, salary expense of $18,500, depreciation expense of $9,000, advertising expense of $4,500, dividends in the amount of $18,000, and a beginning balance in retained earnings of $17,900.  What is the amount in the income summary account before it is closed for the period? 

A.  $250,000

B. $45,500

C. $204,500

D. $222,400

E. $232,100

Answer:  C  
Feedback: 250,000-10,000-3,500-18,500-9,000-4,500 = 204,500

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4

[Question]

165.  A company had revenue of $250,000, rent expense of $10,000, utility expense of $3,500, salary expense of $18,500, depreciation expense of $9,000, advertising expense of $4,500, dividends in the amount of $18,000, and a beginning balance in retained earnings of $17,900.  What is the balance in retained earnings for the end of the period?

A. $250,000

B. $204,400

C. $204,500

D. $222,400

E. $232,100

Answer:  B  
Feedback: 250,000-10,000-3,500-18,500-9,000-4,500 = 204,500+17,900-18000=204,400

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4

[Question]

166.  A company had revenue of $550,000, rent expense of $100,000, utility expense of $10,000, salary expense of $125,500, depreciation expense of $39,000, advertising expense of $40,200, dividends in the amount of $183,000, and an ending balance in retained earnings of $402,300.  What is the beginning retained earnings for the period? 

A. $250,000

B. $235,300

C. $314,700

D. $367,000

E. $350,000
Answer:  E  
Feedback: 550,000-314,700=235,300:  X+235,300-183,000-402,300 = $350,000

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4

[Question]

167.  A company had revenue of $550,000, rent expense of $100,000, utility expense of $10,000, salary expense of $125,500, depreciation expense of $39,000, advertising expense of $40,200, dividends in the amount of $183,000, and an ending balance in retained earnings of $402,300.  What is the appropriate journal entry to close income summary?

A. Income Summary…………….$235,300

     Retained Earnings………………..$235,300

B. Retained Earnings……………$235,300

      Income Summary………………..$235,300

C. Income Summary…………….$52,300

      Retained Earnings………………..$52,300.

D. Retained Earnings…………….$52,300

      Income Summary………………...$52,300

E. Income Summary……………...$314,700

     Retained Earnings…………………$314,700

Answer:  A  
Feedback: (Revenue) 550,000- (Total expenses)314,700 = (Net Income )235,300. This 
amount is closed to retained earnings

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4

[Question]

168.  Based on the following information, what would be the total on the Credit side of a post closing trial balance, assuming all accounts have a normal balance?  

	Cash
	$6,754
	 
	Dividends
	$2,000

	Accounts receivable
	13,733
	 
	Consulting fees earned
	13,718

	Office supplies
	2,625
	 
	Rent expense
	3,673

	Land
	37,153
	 
	Salaries expense
	6,642

	Office equipment
	14,535
	 
	Telephone expense
	560

	Accounts payable
	6,463
	 
	Miscellaneous expense
	280

	Common stock
	54,490
	 
	 Retained Earnings                                   
	        ?


A. $61,516

B. $74,671

C. $74,800

D. $87,955

E. $81,263

Answer:  C  
Feedback: 6,463+54,490+13,284+563

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P5

[Question]

169.  Based on the following information, what would be the beginning balance in the Retained Earnings Account, assuming all accounts have a normal balance?  

	Cash
	$6,754
	 
	Dividends
	$2,000

	Accounts receivable
	13,733
	 
	Consulting fees earned
	13,718

	Office supplies
	2,625
	 
	Rent expense
	3,673

	Land
	37,153
	 
	Salaries expense
	6,642

	Office equipment
	14,535
	 
	Telephone expense
	560

	Accounts payable
	6,463
	 
	Miscellaneous expense
	280

	Common stock
	54,490
	 
	 Retained Earnings                                   
	        ?


A. $0

B. $13,718

C. $13,155

D. $13,284

E. $2,563

Answer:  D  
Feedback: Total Debits 87,955 – Total Credits 74,671 = RE 13,284

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4

 [Question]

170.  Based on the following information, what would be the ending balance in the Retained Earnings Account, assuming all accounts have a normal balance?  

	Cash
	$6,754
	 
	Dividends
	$2,000

	Accounts receivable
	13,733
	 
	Consulting fees earned
	13,718

	Office supplies
	2,625
	 
	Rent expense
	3,673

	Land
	37,153
	 
	Salaries expense
	6,642

	Office equipment
	14,535
	 
	Telephone expense
	560

	Accounts payable
	6,463
	 
	Miscellaneous expense
	280

	Common stock
	54,490
	 
	 Retained Earnings                                   
	        ?


A. $15,847

B. $13,718

C. $13,155

D. $13,284

E. $13,847

Answer:  E  
Feedback: Total Debits 87,955 – Total Credits 74,671 = RE 13,284 + Change in RE 563 = 13,847 Ending RE

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Hard
Learning Objective: 03-P4
 [Question]

171.  Based on the following information, determine the current ratio, assuming all accounts have a normal balance?  

	Cash
	$6,754
	 
	Dividends
	$2,000

	Accounts receivable
	13,733
	 
	Consulting fees earned
	13,718

	Office supplies
	2,625
	 
	Rent expense
	3,673

	Land
	37,153
	 
	Salaries expense
	6,642

	Office equipment
	14,535
	 
	Telephone expense
	560

	Accounts payable
	6,463
	 
	Miscellaneous expense
	280

	Common stock
	54,490
	 
	 Retained Earnings                                   
	        ?


A. 1.23

B. 3.58

C. 11.57

D. 1.23

E. 1.57

Answer:  B  

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A3

[Question]

172.  Based on the following information, determine the current assets, assuming all accounts have a normal balance?  

	Cash
	$6,754
	 
	Dividends
	$2,000

	Accounts receivable
	13,733
	 
	Consulting fees earned
	13,718

	Office supplies
	2,625
	 
	Rent expense
	3,673

	Land
	37,153
	 
	Salaries expense
	6,642

	Office equipment
	14,535
	 
	Telephone expense
	560

	Accounts payable
	6,463
	 
	Miscellaneous expense
	280

	Common stock
	54,490
	 
	 Retained Earnings                                   
	        ?


A. $74,800

B. $37,647

C. $60,265

D. $23,112

E. $60,953

Answer:  D 

Bloom’s Taxonomy: Analyze
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A3

Matching Questions
 

[Question]

173. Match the following terms with the appropriate definition. 

	1. The expense created by allocating the cost of plant and equipment to the periods in which they are used 
	     Prepaid expenses 
	  3 

	2. The principle that requires expenses to be reported in the same period as the revenues that were earned as a result of the expenses 
	     Straight-line depreciation 
	  4 

	3. Items paid for in advance of receiving their benefits 
	     Time period principle 
	  6 

	4. Allocates equal amounts of an asset's cost (less any salvage value) to depreciation expense during its useful life 
	     Matching principle 
	  2 

	5. The accounting system that recognizes revenues when earned and expenses when incurred 
	     Accrual basis accounting 
	  5 

	6. A principle that assumes that an organization's activities can be divided into specific time periods such as months, quarters or years 
	     Depreciation 
	  1 

	7. Revenues earned in a period that are both unrecorded and not yet received in cash or other assets 
	     Accrued revenues 
	  7 

	8. Net income divided by net sales 
	     Cash basis accounting 
	  9 

	9. The accounting system where revenues are recognized when cash is received and expenses are recorded when cash is paid 
	     Profit margin 
	  8 


 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A2
Learning Objective: 03-C1
Learning Objective: 03-C2
Learning Objective: 03-P1

 
[Question]

174. Match the following terms with the appropriate definition. 

	1. Statements that show the effects of proposed transactions as if the transactions had already occurred 
	     Working papers 
	  8 

	2. Entries recorded at the end of each accounting period to transfer end-of-period balances in revenue, expense and dividends accounts to retained earnings 
	     Operating cycle of a business 
	  4 

	3. A spreadsheet used to draft an unadjusted trial balance, adjusting entries, adjusted trial balance and financial statements 
	     Income summary 
	  10 

	4. The time span from when cash is used to acquire goods and services until cash is received from the sale of those goods and services 
	     Work sheet 
	  3 

	5. Accounts that are used to record transactions and events for one accounting period only; they include revenues, expenses and dividends 
	     Post-closing trial balance 
	  9 

	6. Accounts that reflect on activities related to one or more future periods; they include all balance sheet accounts 
	     Accounting cycle 
	  7 

	7. Recurring steps performed each accounting period, starting with analyzing and recording of transactions in the journal and continuing through the post-closing trial balance 
	     Closing entries 
	  2 

	8. Analyses and other informal reports prepared by accountants when organizing the information presented in reports and financial statements 
	   Pro forma statements 
	  1 

	9. A list of permanent accounts and their balances from the ledger after all closing entries are journalized and posted 
	     Permanent accounts 
	  6 

	10. A temporary account used only in the closing process and to where the balances of revenue and expense accounts are transferred 
	     Temporary accounts 
	  5 


 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P4
Learning Objective: 03-P5
Learning Objective: 03-P7
 
[Question]

175. Match the following terms with the appropriate definition. 

	1. Entries recorded at the end of each accounting period to transfer end-of-period balances in revenue, expense and dividends accounts to retained earnings 
	     Equity 
	  7 

	2. Tangible long-lived assets used to produce or sell products or services 
	     Plant assets 
	  2 

	3. A balance sheet that broadly groups assets, liabilities and equity items 
	     Current assets 
	  6 

	4. Long-term assets used to produce or sell products or services; these assets usually lack physical form and their benefits are uncertain
	     Closing entries 
	  1 

	5. Obligations that are due to be paid or settled within one year or the operating cycle of a business whichever is longer 
	     Intangible assets 
	  4 

	6. Cash or other assets that are expected to be sold, collected or used within one year or the company's operating cycle whichever is longer 
	     Long-term investments 
	  10 

	7. The owner's claim on the assets of a company 
	      Classified balance sheet 
	  8 

	8. A balance sheet that organizes the assets and liabilities into important subgroups 
	     Current liabilities 
	  5 

	9. A ratio that is used to help evaluate a company's ability to pay its short-term obligations, calculated by dividing current assets by current liabilities 
	     Unclassified balance sheet 
	  3 

	10. Assets such as notes receivable or investments in stocks which are held for the longer of one year or the operating cycle of the company 
	     Current ratio 
	  9 


 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-A3
Learning Objective: 03-C4
Learning Objective: 03-P4
 
[Question]

176. Classified balance sheets commonly include the following categories: 
Indicate the typical classification of each item listed below by placing the correct balance sheet category in the blank space next to the item. 

	1. Prepaid insurance 
	     Plant assets 
	  3 

	2. Common Stock 
	     Equity 
	  6 

	3. Buildings used in business operations 
	     Investments 
	  8 

	4. Wages payable 
	     Long-term liabilities 
	  10 

	5. Accounts payable 
	     Current assets 
	  11 

	6. Retained earnings 
	     Equity 
	  2 

	7. Current portion of long-term debt 
	     Current liabilities 
	  5 

	8. Land held for future plant expansion 
	     Current liabilities 
	  7 

	9. Cash 
	     Intangible assets 
	  12 

	10. Long-term note payable 
	     Current liabilities 
	  4 

	11. Accounts Receivable 
	     Current assets 
	  1 

	12. Patents 
	     Current assets 
	  9 


 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Med
Learning Objective: 03-C4
 
[Question]

177. Match the following types of accounts with each of the following transactions.

	1. Used to record revenue earned but not received 
	     Accrued expense 
	  2 

	2. Used to record wages owed, but not paid 
	     Accrued revenue 
	  1 

	3. Used to record expiration of prepaid insurance 
	     Prepaid expense 
	  3 

	4. Used to record revenue received in advance 
	     Unearned revenue 
	  4 


 

Bloom’s Taxonomy: Remember
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Research
Difficulty: Medium
Learning Objective: 03-P1
 
 

Essay Questions
 

[Question]

178. Discuss the importance of periodic reporting and the time period principle. 

Answer:  For information to be valuable to decision makers, it must be presented in a timely fashion. To provide timely information for decision making, accounting systems are designed to prepare periodic reports at regular intervals. The time period principle assumes that an organization's activities can be divided into specific time periods such as months, quarters or years.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C1
 
[Question]

179. Discuss how accrual accounting enhances the usefulness of financial statements. 

Answer:  The accrual accounting method recognizes revenue when earned and expenses when incurred. In this way, accrual accounting better reflects business performance than information about cash receipts and payments. Accrual accounting also increases the comparability of financial statements from one period to another.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

180. Identify the differences between accrual accounting and cash basis accounting. 

Answer:  Accrual accounting records revenues in the period earned and expenses in the period incurred. The cash basis, on the other hand records revenues when cash is received and expenses when cash is paid.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C2
 
[Question]

181. List the steps in the accounting cycle. 

Answer:  The accounting cycle consists of ten steps: (1) analyze transactions, (2) journalize entries, (3) post information to the ledgers, (4) prepare an unadjusted trial balance, (5) prepare adjusting entries, (6) prepare an adjusted trial balance, (7) prepare financial statement, (8) close the temporary accounts, (9) prepare a post-closing trial balance and (10) prepare reversing entries (optional).

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C3
 
[Question]

182. How is a classified balance sheet different from an unclassified balance sheet? List the order of the usual classifications on a classified balance sheet. 

Answer:  An unclassified balance sheet broadly groups assets, liabilities and equity. A classified balance sheet organizes assets, liabilities and equity into important subgroups that provide more useful information to decisions makers. Classified balance sheets usually report four groups of assets: current assets, long-term investments, plant assets and intangible assets. Liabilities are usually divided into current and long-term. For sole proprietorships and partnerships equity is reported under capital accounts. For corporations, the equity section is divided into common stock and retained earnings.

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C4
 
[Question]

183. Explain how accounting adjustments affect financial statements. 

Answer:  Without accounting adjustments many accounts would have balances that do not reflect the proper financial performances and financial condition of the company. For example, a Prepaid Insurance account that was unadjusted would include an amount covering the expired cost (expense) plus an amount for the unexpired cost (asset). Adjusting entries thus enhance the accuracy of financial statements so that the amounts on the statements better reflect the financial condition and performance of the company.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

184. How is the profit margin calculated? Discuss its use in analyzing a company's performance. 

Answer:  Profit margin is calculated by dividing net income by net sales. The resulting percent reflects the percent of profit a company makes for every dollar in sales. The profit margin ratio is useful in comparing a company's performance to that of its competitors and as a relative measure of the company's performance across periods.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A2
 
[Question]

185. How is the current ratio calculated? How is it used to evaluate a company? 

Answer:  The current ratio is current assets divided by current liabilities. It is used to help evaluate a company's ability to pay its short term obligations. It can be used by suppliers and creditors to help them decide whether to allow a company to buy on credit and whether to loan them money.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-A3
 
[Question]

186. Describe the types of entries required in later periods that result from accruals. 

Answer:  Accrued revenues in one period result in cash received in later periods. Accrued expenses in one period result in cash payments made in later periods. When the cash for these items is received or paid, journal entries must be made to recognize receipt, payment and the removal of the accrued revenues or accrued expenses from the accounts.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]

187. What are the types of adjusting entries used for prepaid expenses, depreciation and unearned revenues? 

Answer:  Prepaid expenses are deferrals or expenses paid for in advance. The purpose of the adjusting entry for prepaid expenses is to recognize the using up of the asset paid for in advance. Depreciation is the recognition of the decline in usefulness of plant and equipment assets. The adjusting entry for depreciation recognizes this event and treats it as an expense. Unearned revenues represent cash paid in advance for products or services. The adjusting entry for unearned revenues recognizes that revenue has been earned through the delivery of a product or service.

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

188. What are the types of adjusting entries used for accrued expenses and accrued revenues? 

Answer:  Accrued expenses are expenses that have been incurred but not yet paid for. Adjusting entries for accrued expenses increase expenses and also increase liabilities to recognize that an expense has been incurred but not yet paid. Accrued revenues are revenues that have been earned but not yet received in cash. The adjusting entry recognizes the revenue and also establishes a receivable.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

189. What is an adjusted trial balance? Why is it prepared? 

Answer:  An adjusted trial balance is a list of accounts and balances prepared after adjusting entries are recorded and posted to the ledger. The purpose of the adjusted trial balance is to ensure that total debits equal total credits for all accounts in the ledger.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P2
 
[Question]

190. What is the usual order in which financial statements are prepared from the adjusted trial balance? Why are they prepared in that order? 

Answer:  The income statement is prepared first. The amount of net income is then used in the statement of retained earnings to calculate the ending balance in the retained earnings account. The ending balance in the retained earnings account is then transferred to the balance sheet. The statement of cash flows is usually prepared last.

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P3
 

[Question]

191. What is the purpose of closing entries? Describe the closing process. 

Answer:  The purpose of closing entries is to transfer the end of period balances in the temporary accounts to the equity account(s). The closing process has four steps: (1) Close credit balances in revenue accounts to income summary, (2) close debit balances in expense accounts to income summary, (3) close dividends to the retained earnings, (4) close income summary to retained earnings.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

192. What is the purpose of a post-closing trial balance? 

Answer:  A post-closing trial balance is a list of permanent accounts and their balances after all the closing entries are journalized and posted. It is used to verify the equality of debits and credits of the permanent account balances. It also verifies that the temporary accounts have zero balances.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P5
 
[Question]

193. Describe the two alternate methods used to account for prepaid expenses. 

Answer:  The first method places all prepaid expenses in the expense accounts when cash is paid. Adjusting entries are used to place unexpired amounts into the asset accounts. The second method places all prepaid expenses into asset accounts when cash is paid. Adjusting entries are used to recognize expired amounts which are placed into expense accounts.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P6
 
[Question]

194. Describe a worksheet and explain why it is useful. 

Answer:  A worksheet is a useful tool for organizing the preparation and analysis of financial statements. It contains five pairs of debit and credit columns for the trial balance, adjusting entries, adjusted trial balance, income statement accounts and balance sheet accounts.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P7
 
[Question]

195. List and explain the steps in preparing a 10-column worksheet. 

Answer:  

1 Enter the unadjusted trial balance. List all account titles that will be expected to appear on the financial statements and enter their balances from the ledger.
2 Enter all adjustments.
3 Prepare the adjusted trial balance by combining the unadjusted trial balance columns with the adjustments.
4 Sort the adjusted trial balance columns into the Income Statement columns and Balance Sheet columns.
5 Total the Income Statement columns and Balance Sheet columns. The difference between the Income Statement columns is the net income or net loss. The difference between the Balance Sheet columns will also be the amount of the net income or net loss. Add the net income to the Income Statement debit column and total the columns. Add the net income to the Balance Sheet and credit column and total the columns.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P7
 
[Question]

196. What are some of the steps that Ben Huh took to control CheezBurger Network costs? 

Answer:  Ben closely monitored all business activities, including cash, revenues, receivables, and payables. He seriously monitors the adjusting of accounts so that revenues and expenses are properly reported.
 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB:  
 

Short Answer Questions
[Question]

197. Listed below are a number of accounts. Use the table below to classify each account. Indicate whether it is a temporary or permanent account, whether it is included in the Income Statement or Balance Sheet and if it is closed at the end of the accounting period and, if so, how it is closed. The first one is done as an example.

   

	
	Account
	Permanent (P) or 

Temporary (T)
	Income Statement (IS) or Balance Sheet (BS)
	Closed (C) or Not Closed (NC)
	Closed with a Debit (D) or Credit (CR)

	a.
	Accounts payable
	P
	BS
	NC
	

	b.
	Accounts receivable
	
	
	
	

	c.
	Accumulated depreciation. Equipment
	
	
	
	

	d.
	Advertising expense
	
	
	
	

	e.
	Cash
	
	
	
	

	f.
	Unearned revenues
	
	
	
	

	g.
	Depreciation expense – Equipment
	
	
	
	

	h.
	Dividends
	
	
	
	

	i.
	Equipment
	
	
	
	

	j.
	Insurance expense
	
	
	
	

	k.
	Interest expense
	
	
	
	

	l.
	Miscellaneous expense
	
	
	
	

	m.
	Notes payable
	
	
	
	

	n.
	Office supplies
	
	
	
	

	o.
	Office supplies expense
	
	
	
	

	p.
	Prepaid expense
	
	
	
	

	q.
	Rent expense
	
	
	
	

	r.
	Common stock
	
	
	
	

	s.
	Salaries expense
	
	
	
	

	t.
	Salaries payable
	
	
	
	

	u.
	Revenue
	
	
	
	


Answer: 

	
	Account
	Permanent (P) or 

Temporary (T)
	Income Statement (IS) or Balance Sheet (BS)
	Closed (C) or Not Closed (NC)
	Closed with a Debit (Dr) or Credit (CR)

	a.
	Accounts payable
	P
	BS
	NC
	

	b.
	Accounts receivable
	P
	BS
	NC
	

	c.
	Accumulated depreciation. Equipment
	P
	BS
	NC
	

	d.
	Advertising expense
	T
	IS
	C
	Cr.

	e.
	Cash
	P
	BS
	NC
	

	f.
	Unearned revenues
	P
	BS
	NC
	

	g.
	Depreciation expense – Equipment
	T
	IS
	C
	Cr.

	h.
	Dividends
	T
	-
	C
	Cr.

	i.
	Equipment
	P
	BS
	NC
	

	j.
	Insurance expense
	T
	IS
	C
	Cr.

	k.
	Interest expense
	T
	IS
	C
	Cr.

	l.
	Miscellaneous expense
	T
	IS
	C
	Cr.

	m.
	Notes payable
	P
	BS
	NC
	

	n.
	Office supplies
	P
	BS
	NC
	

	o.
	Office supplies expense
	T
	IS
	C
	Cr.

	p.
	Prepaid expense
	P
	BS
	NC
	

	q.
	Rent expense
	T
	IS
	C
	Cr.

	r.
	Common stock
	P
	BS
	NC
	

	s.
	Salaries expense
	T
	IS
	C
	Cr.

	t.
	Salaries payable
	P
	BS
	NC
	

	u.
	Revenue
	T
	IS
	C
	Dr.


 

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

198. The following are the steps in the accounting cycle. List them in the order in which they are completed: 
Prepare adjusted trial balance
Post transactions
Prepare an unadjusted trial balance
Journalize transactions
Prepare the financial statements
Close the temporary accounts
Adjust the ledger accounts
Prepare a post-closing trial balance
Analyze transactions 

Answer:

1 Analyze transactions
2 Journalize transactions
3 Post transactions
4 Prepare an unadjusted trial balance
5 Adjust the ledger accounts
6 Prepare adjusted trial balance
7 Prepare the financial statements
8 Close the temporary accounts
9 Prepare a post-closing trial balance

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-C3
 
[Question]

199. Based on the adjusted trial balance shown below, prepare a classified balance sheet for Focus Package Delivery.

 

	Focus Package Delivery

Adjusted Trial Balance

December 31

	
	Debit
	Credit

	Cash
	18,200
	

	Accounts receivable
	34,200
	

	Supplies
	2,100
	

	Long-term investments
	25,000
	

	Delivery equipment
	45,000
	

	Accumulated depreciation – Delivery equipment
	
	11,080

	Intangible assets
	16,000
	

	Accounts payable
	
	16,200

	Wages payable
	
	4,120

	Long-term notes payable*
	
	20,000

	Common stock
	
	10,000

	Retained earnings
	
	30,400

	Dividends
	15,000
	

	Delivery fees earned -
	
	145,000

	Rent expense
	8,000
	

	Wages expense
	62,000
	

	Supplies expense
	2,500
	

	Depreciation expense – Delivery equipment
	4,050
	

	Interest expense
	1,000
	

	Utilities expense
	3,750
	​​​​______

	Totals
	236,800
	236,800


 

* $2,000 of the long-term note payable is due during the next year.

Feedback: 
*Net income = $145,000 - $8,000 - $62,000 - $2,500 - $4,050 - $1,000 - $3,750 = $63,700
Retained earnings = $30,400 + $63,700 - $15,000 = $79,100 

Answer:   

	Focus Package Delivery

Classified Balance Sheet

December 31

	Assets
	
	

	Current assets
	
	

	     Cash
	$  18,200
	

	     Accounts receivable
	34,200
	

	     Supplies
	2,100
	

	     Total current assets
	
	$54,500

	Long-term investments
	
	25,000

	Plant assets
	
	

	     Delivery equipment
	$ 45,000
	

	     Less: accumulated depreciation
	11,080
	33,920

	Intangible assets
	
	16,000

	Total
	
	$129,420

	Liabilities
	
	

	Current liabilities
	
	

	     Current portion of long-term debt
	$  2,000
	

	     Accounts payable
	16,200
	

	     Wages payable
	4,120
	

	     Total current liabilities
	
	$  22,320

	Long-term liabilities
	
	

	     Long-term note payable
	
	18,000

	Total liabilities
	
	$  40,320

	Equity
	
	

	Common stock
	10,000
	

	Retained earnings*
	79,100
	

	Total equity
	
	89,100

	Total liabilities and equity
	
	$129,420


  

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-C4
 
[Question]
200. The calendar year-end adjusted trial balance for Acosta Co. follows:
 

 

	ACOSTA CO.

Adjusted Trial Balance

December 31

	Cash
	$  100,000
	

	Accounts receivable
	7,000
	

	Prepaid rent
	15,000
	

	Prepaid Insurance
	9,000
	

	Office supplies
	3,300
	

	Office equipment
	8,000
	

	Accumulated depreciation – Equipment 
	
	$    3,200

	Building
	350,000
	

	Accumulated depreciation – Building 
	
	42,000

	Land
	700,000
	

	Accounts payable
	
	5,800

	Salaries payable
	
	14,500

	Interest payable
	
	2,500

	Long-term note payable
	
	52,000

	Common stock
	
	50,000

	Retained earnings
	
	960,000

	Dividends
	200,500
	

	Service fees earned
	
	370,800

	Salaries expense
	90,000
	

	Insurance expense
	5,200
	

	Rent expense
	5,000
	

	Depreciation expense – Equipment 
	800
	

	Depreciation expense – Building 
	7,000
	

	Totals
	$1,500,800
	$1,500,800


  
Required:
a. Prepare a classified year-end balance sheet. (Note: A $7,000 installment on the long-term note payable is due within one year.)
b. Calculate the current ratio. 

Answer:

(a) 

	ACOSTA CO.

Balance Sheet

December 31

	Assets

	Current assets:
	
	

	     Cash
	$100,000
	

	     Accounts receivable
	7,000
	

	     Prepaid rent
	15,000
	

	     Prepaid insurance
	9,000
	

	     Office supplies
	3,300
	

	     Total current assets
	
	$  134,300

	
	
	

	Plant assets:
	
	

	     Office equipment
	$  8,000
	

	       Less accumulated depreciation
	3,200
	$     4,800

	     Building
	350,000
	

	       Less accumulated depreciation
	42,000
	308,000

	     Land
	
	700,000

	     Total plant assets
	
	1,012,800

	     Total assets
	
	$1,147,100


 

	Liabilities

	Current liabilities:
	
	

	     Accounts payable
	$   5,800
	

	     Salaries payable
	14,500
	

	     Interest payable
	2,500
	

	     Current installment of long-term note
	7,000
	

	     Total current liabilities
	29,800
	

	
	
	

	Long-term liabilities:
	
	

	     Notes payable
	45,000
	

	Total liabilities
	
	$    74,800

	
	
	

	Equity

	Common stock
	$    50,000
	

	Retained earnings*
	1,022,300
	

	Total equity
	
	1,072,300

	Total liabilities and equity
	
	$1,147,100



b.  ($134,300 / $29,800) = 4.5 
*NI = $370,800 - $90,000 - $5,200 - $5,000 - $800 - $7,000 = $262,800
Retained earnings = $960,000 + $262,800 - $200,500 = $1,022,300

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A3
Learning Objective: 03-C4
 
[Question]

201. On December 31, 2009, a company forgot to record $7,000 of depreciation on office equipment.  What would be the effect on the assets, net income and equity when it comes to the 2009 financial statements? 

Answer:

1 Assets are overstated by $7,000.
2 Net income is overstated by $7,000.
3 Equity is overstated by $7,000.

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

202. Given the table below, indicate the impact of the following errors made during the adjusting entry process. Use a "+" followed by the amount for overstatements, a "-" followed by the amount for understatements and a "0" for no effect. The first one is done as an example. 
Ex. Failed to recognize that $600 of unearned revenues, previously recorded as liabilities, had been earned by year-end.
1.  Failed to accrue salaries expense of $1,200. 
2.  Forgot to record $2,700 of depreciation on office equipment. 
3.  Failed to accrue $300 of interest on a note receivable.

 

	Error
	Revenues
	Expenses
	Assets
	Liabilites
	Equity

	Ex.
	-$600
	0
	0
	$600
	-$600

	1.
	
	
	
	
	

	2.
	
	
	
	
	

	3.
	
	
	
	
	


Answer:  

  

	Error
	Revenues
	Expenses
	Assets
	Liabilites
	Equity

	1.
	0
	-$1,200
	0
	-$1,200
	+$1,200

	2.
	0
	-$2,700
	+$2,700
	0
	+$2,700

	3.
	-$300
	0
	-$300
	0
	-$300


Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]
203. A company issued financial statements for the year ended December 31, but failed to include the following adjusting entries: 
A. Accrued service fees earned of $2,200
B. Depreciation expense of $8,000
C. Portion of office supplies (an asset) used, $3,100
D. Accrued salaries of $5,200
E. Revenues of $7,200, originally recorded as unearned, have been earned by the end of the year
Determine the correct amounts for the December 31 financial statements by completing the following table:

 

	
	Assets
	Liabilities
	Equity
	Net Income

	Reported amounts
	$350,000
	$200,000
	$150,000
	$70,000

	Add (subtract) to correct for item
	
	
	
	

	A
	
	
	
	

	B
	
	
	
	

	C
	
	
	
	

	D
	
	
	
	

	E
	
	
	
	

	Corrected amounts
	$
	$
	$
	$


  

Answer:

 

	
	Assets
	Liabilities
	Equity
	Net Income

	Reported amounts
	$350,000
	$200,000
	$150,000
	$70,000

	Add (subtract) to correct for item
	
	
	
	

	A
	2,200
	
	2,200
	2,200

	B
	(8,000)
	
	(8,000)
	(8,000)

	C
	(3,100)
	
	(3,100)
	(3,100)

	D
	
	5,200
	(5,200)
	(5,200)

	E
	
	(7,200)
	7,200
	7,200

	Corrected amounts
	$341,100
	$198,000
	$143,100
	$63,100


 

 

Bloom’s Taxonomy: Analyze 
ACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]
204. Using the following table indicate the impact of the following errors made during the adjusting entry process. Use a "+" for overstatements, a "-" for understatements and a "0" for no effect. The first one is provided as an example


	
	Error
	Revenues
	Expenses
	Assets
	Liabilities
	Equity

	Ex.
	Did not record depreciation for this period
	0
	-
	+
	0
	+

	1.
	Did not record unpaid utility bill
	
	
	
	
	

	2.
	Did not adjust unearned revenue account for revenue earned this period.
	
	
	
	
	

	3.
	Did not adjust office supplies for supplies used this period.
	
	
	
	
	

	4.
	Did not accrue employees wages for this period.
	
	
	
	
	

	5.
	Recorded rent expense with a debit to salary expense and a credit to rent payable.
	
	
	
	
	


  Answer:

 

	
	Error
	Revenues
	Expenses
	Assets
	Liabilities
	Equity

	Ex.
	Did not record depreciation for this period
	0
	-
	+
	0
	+

	1.
	Did not record unpaid utility bill
	0
	-
	0
	-
	+

	2.
	Did not adjust unearned revenue account for revenue earned this period.
	-
	0
	0
	+
	-

	3.
	Did not adjust office supplies for supplies used this period.
	0
	-
	+
	0
	+

	4.
	Did not accrue employees wages for this period.
	0
	-
	0
	-
	+

	5.
	Recorded rent expense with a debit to salary expense and a credit to rent payable.
	0
	0
	0
	0
	0


 

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-A1
 
[Question]

205. Reebok's net income was $180,000; its total assets were $1,050,000; and its net sales were $3,500,000. Calculate the company's profit margin ratio. 

Answer:  $180,000/$3,500,000 = 5.1%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Med
Learning Objective: 03-A2
 
[Question]

206. Nike's net income was $780,000; its net assets were $5,200,000; and its net sales were $9,000,000. Calculate its profit margin ratio. 

Answer:  $780,000/$9,000,000 = 8.7%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-A2
 
[Question] 
207. The following information is available for the Wooden Company:

 

	
	2010
	2009
	2008

	Net income
	$   2,630
	$   2,100
	$   1,850

	Net Sales
	36,500
	32,850
	31,200

	Total assets
	400,000
	385,000
	350,000


 

From the information provided, calculate Wooden's profit margin ratio for each of the three years. Comment on the results, assuming that the industry average for the profit margin ratio is 6% for each of the three years. 

Answer:

 

	
	
	2010
	2009
	2008

	
	NI
	$   2,630
	$   2,100
	$   1,850

	Profit margin
	Sales
	$ 36,500
	$ 32,850
	$ 31,200

	
	
	
	
	

	
	
	7.2%
	6.4%
	5.9%


  

Analysis comment: The profit margin has increased in all three years and has exceeded the industry average in the last two years. These results reflect positively on Wooden and its trend in profitability.

 

Bloom’s Taxonomy: Evaluate
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-A2
 
[Question]

208. Calculate the current ratio in each of the following separate cases.

 

	
	Current Assets
	Current Liabilities

	Case 1
	$ 75,000
	$ 30,000

	Case 2
	$161,500
	$ 85,000

	Case 3
	$ 45,000
	$ 53,000

	Case 4
	$132,000
	$127,000

	Case 5
	$ 99,000
	$110,000


  

Answer:
Case 1: 2.5
Case 2. 1.9
Case 3. 0.85
Case 4. 1.04
Case 5. 0.90

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-A3
 
[Question]
209. On December 14 Bench Company received $3,700 cash for consulting services that will be performed in January. Bench records all such prepayments in a liability account. Prepare a general journal entry to record the $3,700 cash receipt. 
Answer: 

	Dec. 14
	Cash
	3,700
	

	
	     Unearned Consulting Fees
	
	3,700


 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P1
 
[Question]
210. On December 31, Connelly Company had performed $5,000 of management services for clients that had not yet been billed. Prepare Connelly's adjusting entry to record these fees earned. 

Answer:  

	Dec. 31
	Accounts Receivable
	5,000
	

	
	     Management Fees Earned
	
	5,000


Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P1
 

[Question]

211. During the year, Able Co. purchased $23,750 worth of supplies, at the end of the year, the supplies expense on the adjusted trial balance was $29,340 and the balance sheet showed a balance of $810 in the supplies account.  What was the supplies balance at the beginning of the year? 

Answer:   X+23,750-29,340=810; x = 6400 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

212. During the year, Able Co. purchased $39,600 worth of supplies, at the end of the year, the balance sheet showed a balance of $1,760 in the supplies account.  Prepare the necessary adjusting entry.

Answer:  

Supplies Expense……………. $37,840

     Supplies……………………....$37,840

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P1

[Question]

213. June 30, 2010, the end of the quarter is on a Wednesday.  Employees get paid each Friday for the week worked.  Abel Co. has five employees who earn $100 per day each.  Make the necessary adjusting journal entry for June 30. 

Answer:

Wages Expense……………. $1,500

     Wages Payable……………………....$1,500

Feedback:  5 * $100 * 3 days = 1,500

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1

[Question]

214. June 30, 2010, the end of the quarter is on a Wednesday.  Employees get paid each Friday for the week worked.  Abel Co. has five employees who earn $100 per day each.  Assuming the proper adjusting journal entry was made on June 30, prepare the journal entry to record the payment of wages on July 2.  

Answer:

Wages Expense……………. $1,000

Wages Payable……………...$1,500

     Cash……….……………………....$2,500

Feedback:  5 * $100 * 3 days = 1,500 (Wages Payable) 5*$100*2 days (Wages Expense)

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1

[Question]

215. An asset that cost $50,000 was purchased on January 1.  The asset has an estimated useful life of three years and an estimated salvage value of $3,200.  Prepare the necessary adjusting journal entry for the end of the year.  

Answer:

Depreciation Expense……………. $15,600

     Accumulated Depreciation……………....$15,600

Feedback:  (50,000-3,200)/3)=$15,600

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1

[Question]

216. A company has 20 employees who each earn $500 per week for a 5-day week that begins on Monday. December 31 of 2011 is a Monday and all 20 employees worked that day. 

a. Prepare the required adjusting journal entry to record accrued salaries on December 31, 
    2011.
b. Prepare the journal entry to record the payment of salaries on January 4, 2012. 

Answer:

 a.


	12/30/11
	Salary Expense
	2,000
	

	
	     Salaries Payable
	
	2,000


                         (20 employees x $500/week x 1/5 week = $2,000 expense)

b.


	1/4/12
	Salary Expense
	8,000
	

	
	Salaries payable
	2,000
	

	
	     Cash
	
	10,000




                          (20 employees x $500/week x 4/5 week = $8,000 expense)

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

217. Pfister Co. leases an office to a tenant at the rate of $5,000 per month. The tenant contacted Pfister and arranged to pay the rent for December 2011 on January 8, 2012. Pfister agrees to this arrangement. 
a. Prepare the journal entry that Pfister must make at December 31, 2011 to record the accrued rental revenue.
b. Prepare the journal entry to record the receipt of the rent on January 8, 2012. 

Answer:

a.
 

	12/31/11
	Rent Receivable
	5,000
	

	
	     Rent Revenue earned
	
	5,000


 
b.


	1/8/12
	Cash
	5,000
	

	
	     Rent Receivable
	
	5,000


 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

218. Prior to recording adjusting entries on December 31, a company's Store Supplies account had an $880 debit balance. A physical count of the supplies showed $325 of unused supplies available as of December 31. Prepare the required adjusting entry. 

Answer:

 

	Dec. 31
	Store Supplies Expense
	555
	

	
	     Store Supplies

($880 - $325 = $555 used)
	
	555


 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

219. Complete the following by filling in the blanks: 
(1) The Prepaid Insurance account had a $455 debit balance at the beginning of the current year; $650 of insurance premiums were paid during the year; and the year-end balance sheet showed $420 of prepaid insurance; consequently, the income statement for the year must have shown $______________ of insurance expense.
(2) The Office Supplies account began the current year with a $235 debit balance; the income statement for the year showed $475 of office supplies expense; and the year-end balance sheet showed the current asset, office supplies, at $225; consequently, if all supplies were accounted for, $____________ of office supplies must have been purchased during the year. 

Answer:

(1) $685 = $455 + $650 - $420
(2) $465 = $225 + $475 - $235

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

220. Topflight Company had $1,500 of store supplies at the beginning of the current year. During this year, Topflight purchased $8,250 worth of store supplies. On December 31, $1,125 worth of store supplies remained. Calculate the amount of Topflight Company's store supplies expense for the current year. 

Answer:  $1,500 + $8,250 - $1,125 = $8,625

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

221. Prepare general journal entries on December 31 to record the following unrelated year-end adjustments. 
a. Estimated depreciation on office equipment for the year, $4,000
b. The Prepaid Insurance account has a $3,680 debit balance before adjustment. An examination of insurance policies shows $950 of insurance expired
c. The Prepaid Insurance account has a $2,400 debit balance before adjustment. An examination of insurance policies shows $600 of unexpired insurance
d. The company has three office employees who each earn $100 per day for a five-day workweek that ends on Friday. The employees were paid on Friday, December 26 and have worked full days on Monday, Tuesday and Wednesday, December 29, 30 and 31
e. On November 1, the company received 6 months' rent in advance from a tenant whose rent is $700 per month. The $4,200 was credited to the Unearned Rent account
f. The company collects rent monthly from its tenants. One tenant whose rent is $750 per month has not paid his rent for December

Answer:
a.

	Dec. 31
	Depr. Expense – Office Equipment
	4,000
	

	
	     Accum Depr. – Office Equipment
	
	4.000


 b.   

	31
	Insurance Expense
	950
	

	
	     Prepaid Insurance
	
	950


 c.
	31
	Insurance Expense
	1,800
	

	
	     Prepaid Insurance

($2,400 - $600 = $1,800 expired)
	
	1,800


d.

	31
	Office Salaries Expense
	900
	

	
	     Office Salaries Payable

(3 Employees x 3 days x $100/day/employee = $900)
	
	900


 e.

	31
	Unearned Rent
	1,400
	

	
	     Rent Earned

($700/mo x 2 months earned = $1,400)
	
	1,400


 f.

	31
	Accounts Receivable (or Rent Receivable)
	750
	

	
	     Rent Earned
	
	750


  

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

222. Barnes Company has 20 employees who are each paid $80 per day for a 5-day workweek. The employees are paid each Friday. This year the accounting period ends on Tuesday. Prepare the December 31 year-end adjusting journal entry Barnes Company should make to accrue salaries. 

Answer: 

	Dec. 31
	Salaries Expense
	3,200
	

	
	     Salaries Payable

($80/day x 20 employees x 2 days = $3,200)
	
	3,200


 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1
 
[Question]

223. Show the December 31 adjusting entry to record $750 of earned but unpaid salaries of employees at the end of the current accounting period. 

Answer:

 

	Dec. 31
	Salaries Expense
	750
	

	
	     Salaries Payable
	
	750


 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1

 
[Question]

224. Western Company had $500 of store supplies available at the beginning of the current year. During the year Western Company purchased $2,750 worth of store supplies. On December 31 of this year $375 worth of store supplies remained. 
a. Calculate the amount of Western Company's store supplies expense for the current year. (Show your calculations.)
b. Prepare the journal entry to adjust the supplies account.


Answer:

a. 

	Beginning Supplies
	$   500

	+ Purchases
	2,750

	Available
	$3,250

	- Ending Supplies
	375

	Supplies used
	$2,875


b.

	12/31
	Store Supplies expense
	2,875
	

	
	     Store Supplies
	
	2,875


 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

225. During the current year ended December 31, clients paid fees in advance for accounting services amounting to $25,000. These fees were recorded in an account called Unearned Accounting Fees. If $3,500 of these fees are still unearned on December 31 of this year present the December 31 adjusting entry to bring the accounts up to date. 

Answer: 

	Dec. 31
	Unearned Accounting Fees
	21,500
	

	
	     Accounting Fees Earned

($25,000 - $3,500 = $21,500)
	
	21,500


 Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
 
[Question]

226. The following unadjusted and adjusted trial balances were taken from the current year's accounting system for High Point, Inc.
 

	High Point, Inc.

Trial Balances

For Year Ended December 31

	
	Unadjusted Trial Balance
	Adjusted Trial Balance

	
	Debit
	Credit
	Debit
	Credit

	Cash
	11,300
	
	11,300
	

	Accounts receivable
	16,340
	
	17,140
	

	Office supplies
	1,045
	
	645
	

	Prepaid advertising
	1,100
	
	450
	

	Building
	26,700
	
	26,700
	

	Accumulated depreciation -- Building
	
	1,300
	
	6,300

	Accounts payable
	
	3,320
	
	3,500

	Unearned services revenue
	
	4,410
	
	3,010

	Common stock
	
	10,000
	
	10,000

	Retained earnings
	
	7,905
	
	7,905

	Services revenue
	
	72,400
	
	74,600

	Salaries expense
	34,500
	
	34,500
	

	Utilities expense
	5,450
	
	5,630
	

	Advertising expense
	2,900
	
	3,550
	

	Supplies expense
	
	
	400
	

	Depreciation expense – building 
	
	
	5,000
	

	Totals
	99,335
	99,335
	105,315
	105,315


 

In general journal form, present the six adjusting entries that explain the changes in the account balances from the unadjusted to the adjusted trial balance. 

Answer:

a.  


	Dec. 31
	Accounts Receivable
	800
	

	
	     Services Revenue

  To adjust for revenues earned but not yet collected.
	
	800


 
b.
 

	Dec. 31
	Supplies Expense
	400
	

	
	     Office Supplies

  To adjust for supplies used.
	
	400


 
c.


	Dec. 31
	Advertising Expense
	650
	

	
	      Prepaid Advertising

  To adjust for advertising services used.
	
	650


 
d.
 

	Dec. 31
	Depreciation Expense – Building 
	5,000
	

	
	     Accumulated Depreciation Building

    To record depreciation.
	
	5,000


 
e.


	Dec. 31
	Utilities Expense
	180
	

	
	     Accounts or Utilities Payable

  To adjust for accrued utilities expense.
	
	180


 
f.


	Dec. 31
	Unearned Services Revenue
	1,400
	

	
	     Services Revenue

  To adjust for earned revenue previously collected
	
	1,400


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
Learning Objective: 03-P2
 
[Question]

227. Black Company's unadjusted and adjusted trial balances on December 31 of the current year are as follows
 

	
	Unadjusted Trial Balance
	Adjusted Trial Balance

	Cash
	4,000
	
	4,000
	

	Prepaid insurance
	1,600
	
	1,200
	

	Equipment
	9,000
	
	9,000
	

	Accumulated depreciation – 

  Equipment
	
	900
	
	1,800

	Salaries payable
	
	
	
	1,000

	Unearned repair fees
	
	2,500
	
	600

	Repair fees earned
	
	10,000
	
	11,900

	Salaries expense
	3,500
	
	4,500
	

	Depreciation expense – Equip 
	
	
	900
	

	Insurance expense
	700
	
	1,100
	

	Common stock
	
	5,000
	
	5,000

	Retained earnings
	
	400
	
	400

	
	18,800
	18,800
	20,700
	20,700


 
Present the four adjusting journal entries that were recorded by Black Company. 

Answer:

	Dec. 31
	Insurance Expense
	400
	

	
	     Prepaid Insurance
	
	400

	31
	Depreciation Expense Equipment
	900
	

	
	     Accum Depr. – Equipment 
	
	900

	31
	Salaries Expense
	1,000
	

	
	     Salaries Payable
	
	1,000

	31
	Unearned Repair Fees
	1,900
	

	
	     Repair Fees Earned
	
	1,900


 

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
Learning Objective: 03-P2
 
[Question]

228. In general journal form, record the December 31 adjusting entries for the following transactions and events. Assume that December 31 is the end of the annual accounting period. 
a. The Prepaid Insurance account shows a debit balance of $2,340, representing the cost of a three-year fire insurance policy that was purchased on October 1 of the current year
b. The Office Supplies account has a debit balance of $400; a year-end inventory count reveals $80 of supplies still on hand
c. On November 1 of the current year, Rent Earned was credited for $1,500. This amount represented the rent earned for a three-month period beginning November 1
d. Estimated depreciation on office equipment is $600
e. Accrued salaries amount to $400 

Answer:

(all entries dated December 31)
a.

	Insurance Expense
	195
	

	     Prepaid Insurance

($2,340/36 mo. = $65/mo; $65/mo x 3 mo expired - $195)
	
	195


 
b.

	Office Supplies Expense
	320
	

	     Office Supplies ($400 - $80)
	
	320


 
c.

	Rent Earned
	500
	

	     Unearned Rent ($1,500/3)
	
	500


 
d.

	Depreciation Expense – Office Equipment
	600
	

	     Accumulated Depreciation – Office Equipment
	
	600


 
e.

	Salaries Expense
	400
	

	     Salaries Payable
	
	400


 

 Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P1
Learning Objective: 03-P4
 
[Question]

229. Based on the following information, prepare the adjusting journal entries for Bella's Beauty Salon.  Bella Beauty Salon's unadjusted trial balance for the current year follows:

 

	Bella Beauty Salon

Trial Balance

December 31

	Cash
	$  4,200
	

	Prepaid insurance
	1,480
	

	Shop supplies
	990
	

	Shop equipment
	3,860
	

	Accumulated depreciation – shop equipment
	
	$    770

	Building
	57,500
	

	Accumulated depreciation – building 
	
	3,840

	Land
	55,000
	

	Unearned rent
	
	1,600

	Long-term notes payable
	
	50,000

	Common stock
	
	10,000

	Retained earnings
	
	39,860

	Rent earned
	
	2,400

	Fees earned
	
	23,400

	Wages expense
	3,200
	

	Utilities expense
	690
	

	Property taxes expense
	600
	

	Interest expense
	4,350
	

	Totals
	$131,870
	$131,870


 Additional information:
a. An insurance policy examination showed $1,240 of expired insurance
b. An inventory count showed $210 of unused shop supplies still available
c. Depreciation expense on shop equipment, $350
d. Depreciation expense on the building, $2,220
e. A beautician is behind on space rental payments and this $200 of accrued revenue was unrecorded at the time the trial balance was prepared.
f. $800 of the Unearned Rent account balance was earned by year-end.
g. The one employee, a receptionist, works a five-day workweek at $50 per day. The employee was paid last week but has worked four days this week for which she has not been paid.
h. Three months' property taxes, totaling $450, have accrued. This additional amount of property taxes expense has not been recorded.
i. One month's interest on the note payable, $600, has accrued but is unrecorded.

Answer:
a.

	Insurance expense
	1,240
	

	     Prepaid insurance
	
	1,240


b.

	Shop supplies expense
	780
	

	     Shop supplies

(Calculation $990 – 210 = 780 used)
	
	780


c.

	Depreciation expense, Shop equipment
	350
	

	     Accumulated depreciation – Shop equipment
	
	350


d.

	Depreciation expense, Building
	2,220
	

	     Accumulated depreciation – Building
	
	2,220


e.

	Rent Receivable
	200
	

	     Rent earned
	
	200


 f.

	Unearned rent
	800
	

	     Rent earned
	
	800


g.

	Wages expense
	200
	

	     Wages payable

     (Calculation: $50/day x 4 days = $200)
	
	200


h.

	Property taxes expense
	450
	

	     Property taxes payable
	
	450


i.

	Interest expense
	600
	

	     Interest payable
	
	600



Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P1

[Question]

230. Use the following information to prepare the adjusted trial balance for Bella's Beauty Salon. Bella Beauty Salon's unadjusted trial balance for the current year follows:



	Bella Beauty Salon

Trial Balance 

December 31

	Cash
	$  4,200
	

	Prepaid insurance
	1,480
	

	Shop supplies 
	990
	

	Shop equipment
	3,860
	

	Accumulated depreciation – shop equipment
	
	$    770

	Building
	57,500
	

	Accumulated depreciation – building 
	
	3,840

	Land
	55,000
	

	Unearned rent
	
	1,600

	Long-term notes payable
	
	50,000

	Common stock
	
	10,000

	Retained earnings
	
	39,860

	Rent earned
	
	2,400

	Fees earned
	
	23,400

	Wages expense
	3,200
	

	Utilities expense
	690
	

	Property taxes expense
	600
	

	Interest expense
	4,350
	

	Totals
	$131,870
	$131,870




Additional information:
a. An insurance policy examination showed $1,240 of expired insurance
b. An inventory count showed $210 of unused shop supplies still available
c. Depreciation expense on shop equipment, $350
d. Depreciation expense on the building, $2,220
e. A beautician is behind on space rental payments and this $200 of accrued revenue was unrecorded at the time the trial balance was prepared.
f. $800 of the Unearned Rent account balance was earned by year-end.
g. The one employee, a receptionist, works a five-day workweek at $50 per day. The employee was paid last week but has worked four days this week for which she has not been paid.
h. Three months' property taxes, totaling $450, have accrued. This additional amount of property taxes expense has not been recorded.
i. One month's interest on the note payable, $600, has accrued but is unrecorded.

Answer:
	Bella Beauty Salon

Adjusted Trial Balance 

December 31

	Cash
	$  4,200
	

	Rent receivable
	200
	

	Prepaid insurance
	240
	

	Shop supplies 
	210
	

	Shop equipment
	3,860
	

	Accumulated depreciation – shop equipment
	
	$    1,120

	Building
	57,500
	

	Accumulated depreciation – building 
	
	6,060

	Land
	55,000
	

	Wages payable
	
	200

	Property taxes payable
	
	450

	Interest payable
	
	600

	Unearned rent
	
	800

	Long-term notes payable
	
	50,000

	Common stock
	
	10,000

	Retained earnings
	
	39,860

	Rent earned
	
	3,400

	Fees earned
	
	23,400

	Wages expense
	3,400
	

	Utilities expense
	690
	

	Property taxes expense
	1,050
	

	Insurance expense
	1,240
	

	Shop supplies expense
	780
	

	Depreciation expense – shop equipment
	350
	

	Depreciation expense-building
	2,220
	

	Interest expense
	4,950
	

	Totals
	$135,890
	$135,890


  

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P2
 
[Question]   

231. Prepare an income statement from the adjusted trial balance of Hanson Storage. 

	HANSON STORAGE

Adjusted Trial Balance

December 31

	Cash
	$   3,050
	

	Accounts receivable
	400
	

	Prepaid insurance
	830
	

	Office supplies
	80
	

	Office equipment
	4,200
	

	Accumulated depreciation – office equipment
	
	$    1,100

	Buildings
	98,000
	

	Accumulated depreciation – buildings 
	
	28,000

	Land
	115,000
	

	Wages payable
	
	880

	Property taxes payable
	
	1,400

	Interest payable
	
	2,200

	Unearned rent
	
	460

	Long-term notes payable
	
	150,000

	Common stock
	
	15,000

	Retained earnings
	
	25,340

	Dividends
	21,000
	

	Rent earned
	
	57,500

	Wages expense
	25,000
	

	Utilities expense
	1,900
	

	Property taxes expense
	2,400
	

	Insurance expense
	800
	

	Office supplies expense 
	250
	

	Depreciation expense – office equipment
	400
	

	Depreciation expense – buildings 
	5,570
	

	Interest expense
	3,000
	

	Totals
	$281,880
	$281,880


Answer: 

	HANSON STORAGE

Income Statement

For Year Ended December 31

	Revenues
	
	

	     Rent earned
	
	$57,500

	Operating expenses
	
	

	    Wages expense
	$25,000
	

	     Utilities expense
	1,900
	

	     Property taxes expense
	2,400
	

	     Insurance expense
	800
	

	     Office supplies expense
	250
	

	     Depreciation expense – office equipment
	400
	

	     Depreciation expense – buildings
	5,570
	

	     Interest expense
	3,000
	

	     Total operating expenses
	
	39,320

	Net income
	
	$18,180


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]

232. Prepare a statement of retained earnings from the adjusted trial balance of Hanson Storage. 

	HANSON STORAGE

Adjusted Trial Balance

December 31

	Cash
	$   3,050
	

	Accounts receivable
	400
	

	Prepaid insurance
	830
	

	Office supplies
	80
	

	Office equipment
	4,200
	

	Accumulated depreciation – office equipment
	
	$    1,100

	Buildings
	98,000
	

	Accumulated depreciation – buildings 
	
	28,000

	Land
	115,000
	

	Wages payable
	
	880

	Property taxes payable
	
	1,400

	Interest payable
	
	2,200

	Unearned rent
	
	460

	Long-term notes payable
	
	150,000

	Common stock
	
	15,000

	Retained earnings
	
	25,340

	Dividends
	21,000
	

	Rent earned
	
	57,500

	Wages expense
	25,000
	

	Utilities expense
	1,900
	

	Property taxes expense
	2,400
	

	Insurance expense
	800
	

	Office supplies expense 
	250
	

	Depreciation expense – office equipment
	400
	

	Depreciation expense – buildings 
	5,570
	

	Interest expense
	3,000
	

	Totals
	$281,880
	$281,880


Answer: 

	HANSON STORAGE

Retained Earnings Statement

For the Year Ended December 31

	Retained earnings, January 1
	$25,340

	Add: Net income
	18,180

	Less: Dividends
	(21,000)

	Retained earnings, December 31
	$22,520


 
Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]

233. Prepare a balance sheet from the adjusted trial balance of Hanson Storage. 

	HANSON STORAGE

Adjusted Trial Balance

December 31

	Cash
	$   3,050
	

	Accounts receivable
	400
	

	Prepaid insurance
	830
	

	Office supplies
	80
	

	Office equipment
	4,200
	

	Accumulated depreciation – office equipment
	
	$    1,100

	Buildings
	98,000
	

	Accumulated depreciation – buildings 
	
	28,000

	Land
	115,000
	

	Wages payable
	
	880

	Property taxes payable
	
	1,400

	Interest payable
	
	2,200

	Unearned rent
	
	460

	Long-term notes payable
	
	150,000

	Common stock
	
	15,000

	Retained earnings
	
	25,340

	Dividends
	21,000
	

	Rent earned
	
	57,500

	Wages expense
	25,000
	

	Utilities expense
	1,900
	

	Property taxes expense
	2,400
	

	Insurance expense
	800
	

	Office supplies expense 
	250
	

	Depreciation expense – office equipment
	400
	

	Depreciation expense – buildings 
	5,570
	

	Interest expense
	3,000
	

	Totals
	$281,880
	$281,880


Answer:

 

	HANSON STORAGE

Balance Sheet

December 31

	Assets
	
	

	Cash
	
	$   3,050

	Accounts receivable
	
	400

	Prepaid insurance
	
	830

	Office supplies
	
	80

	Office equipment
	$   4,200
	

	Less: Accumulated depreciation 
	$    1,100
	3,100

	Buildings
	98,000
	

	Accumulated depreciation 
	28,000
	70,000

	Land
	
	115,000

	Total assets
	
	$192,460

	
	
	

	Liabilities
	
	

	Wages payable
	    $     880
	

	Property taxes payable
	1,400
	

	Interest payable
	2,200
	

	Unearned rent
	460
	

	Long-term notes payable
	150,000
	

	Total Liabilities
	
	$154,940

	
	
	

	Equity
	
	

	Common stock
	$ 15,000
	

	Retained earnings
	22,520
	

	     Total equity
	
	37,520

	Total Liabilities and Equity
	
	$192,460


Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 
  [Question]

234. From the adjusted trial balance, prepare an income statement for Martin Sky Taxi Services. 

	Martin Sky Taxi Services

Adjusted Trial Balance

For the year ended December 31

	Cash
	$   28,000
	

	Accounts receivable
	14,200
	

	Office supplies
	1,700
	

	Airplanes 
	100,000
	

	Accumulated depreciation – Airplanes
	
	45,000

	Accounts payable
	
	11,500

	Common stock 
	
	25,000

	Retained earnings
	
	 46,900

	Dividends 
	40,000
	

	Fees earned
	
	150,000

	Rent expense
	13,000
	

	Office supplies expense
	2,000
	

	Utilities expense
	2,500
	

	Depreciation Expense – Airplanes
	15,000
	

	Salary expense 
	50,000
	

	Fuel expense
	12,000
	

	Totals
	$278,400
	$278,400


Answer:

  

	Martin Sky Taxi Services

Income Statement

For the year ended December 31

	Revenue:
	
	

	     Fees earned
	
	$150,000

	Expenses: 
	
	

	     Rent expense
	$13,000
	

	     Office supplies expense
	2,000
	

	     Utilities expense
	2,500
	

	     Depreciation expense – Airplanes 
	15,000
	

	     Salary expense
	50,000
	

	     Fuel expense
	12,000
	

	     Total expenses
	
	94,500

	Net income
	
	$55,500


 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 

[Question]

235. Based on the adjusted trial balance, prepare a statement of retained earnings for Martin Sky Taxi Services.

	Martin Sky Taxi Services

Adjusted Trial Balance

For the year ended December 31

	Cash
	$   28,000
	

	Accounts receivable
	14,200
	

	Office supplies
	1,700
	

	Airplanes 
	100,000
	

	Accumulated depreciation – Airplanes
	
	45,000

	Accounts payable
	
	11,500

	Common stock 
	
	25,000

	Retained earnings
	
	 46,900

	Dividends 
	40,000
	

	Fees earned
	
	150,000

	Rent expense
	13,000
	

	Office supplies expense
	2,000
	

	Utilities expense
	2,500
	

	Depreciation Expense – Airplanes
	15,000
	

	Salary expense 
	50,000
	

	Fuel expense
	12,000
	

	Totals
	$278,400
	$278,400


Answer:

	Martin Sky Taxi Service

Retained Earnings Statement

For the Year Ended December 31

	Retained earnings, January 1
	$46,900

	Add: Net income
	55,500

	Less: Dividends
	(40,000)

	Retained earnings, December 31
	$62,400


 
Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]
236. Based on the adjusted trial balance, prepare a balance sheet for Martin Sky Taxi Services.

	Martin Sky Taxi Services

Adjusted Trial Balance

For the year ended December 31

	Cash
	$   28,000
	

	Accounts receivable
	14,200
	

	Office supplies
	1,700
	

	Airplanes 
	100,000
	

	Accumulated depreciation – Airplanes
	
	45,000

	Accounts payable
	
	11,500

	Common stock 
	
	25,000

	Retained earnings
	
	 46,900

	Dividends 
	40,000
	

	Fees earned
	
	150,000

	Rent expense
	13,000
	

	Office supplies expense
	2,000
	

	Utilities expense
	2,500
	

	Depreciation Expense – Airplanes
	15,000
	

	Salary expense 
	50,000
	

	Fuel expense
	12,000
	

	Totals
	$278,400
	$278,400


 
Answer:

 

	Martin Sky Taxi Services

Balance Sheet

At December 31

	Assets
	
	

	Cash
	
	$28,000

	Accounts receivable
	
	14,200

	Office supplies
	
	1,700

	Airplanes
	$100,000
	

	Less: Accumulated depreciation – Airplanes
	(45,000)
	55,000

	Total assets
	
	$98,900

	Liabilities
	
	

	Accounts payable
	
	$11,500

	Equity
	
	

	Common stock
	$25,000
	

	Retained earnings
	62,400
	

	Total equity
	
	$87,400

	Total liabilities and equity
	
	$98,900


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P3
 
[Question]

237. The summary amounts below appear in the Income Statement and Balance Sheet columns of a company's December 31 work sheet. Prepare the necessary closing entries.
 

	
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit

	Assets
	
	
	12,000
	

	Liabilities
	
	
	
	3,000

	Common stock
	
	
	
	1,000

	Retained earnings
	
	
	
	6,500

	Dividends
	
	
	1,500
	

	Revenue
	
	19,500
	
	

	Salaries expense
	11,250
	
	
	

	Other operating expenses
	5,250
	
	
	

	Totals
	16,500
	19,500
	13,500
	10,500

	Net income
	3,000
	
	
	3,000

	Totals
	19,500
	19,500
	13,500
	13,500


  

Answer:

 

	Dec.
	31
	Revenue
	19,500
	

	
	
	     Income Summary
	
	19,500

	
	
	
	
	

	
	31
	Income Summary
	16,500
	

	
	
	     Salaries Expense
	
	11,250

	
	
	     Other Operating Expenses
	
	5,250

	
	
	
	
	

	
	31
	Income Summary
	3,000
	

	
	
	     Retained earnings
	
	3,000

	
	
	
	
	

	
	31
	Retained earnings
	1,500
	

	
	
	     Dividends
	
	1,500


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 03-P4
 
[Question]

238. The adjusted trial balance of Sara's Web Services follows:


	SARA’S WEB SERVICES

Adjusted Trial Balance

December 31

	Cash
	$  1,170
	

	Supplies
	1,930
	

	Prepaid insurance
	600
	

	Computer equipment
	20,600
	

	Accumulated depreciation – Computer equipment
	
	$ 5,400

	Accounts payable
	
	325

	Common stock
	
	3,000

	Retained earnings
	
	10,925

	Dividends
	4,800
	

	Services revenue
	
	21,720

	Salaries expense
	6,920
	

	Depreciation expense
	2,000
	

	Rent expense
	1,200
	

	Supplies expense
	800
	

	Utilities expense
	950
	

	Insurance expense
	400
	

	Totals
	$41,370
	$41,370


 
(a) Prepare the closing entries for Sara's Web Services. 
(b) What is the balance of the retained earnings account after the closing entries are posted? 

Answer:
a)  

	Closing entries:

	Dec.
	31
	Services Revenue
	21,720
	

	
	
	     Income Summary
	
	21,720

	
	
	
	
	

	
	31
	Income Summary
	12,270
	

	
	
	     Salaries Expense
	
	6,920

	
	
	     Depreciation Expense
	
	2,000

	
	
	     Rent Expense
	
	1,200

	
	
	     Supplies Expense
	
	800

	
	
	     Utilities Expense
	
	950

	
	
	     Insurance Expense
	
	400

	
	
	
	
	

	
	31
	Income Summary
	9,450
	

	
	
	     Retained earnings
	
	9,450

	
	
	
	
	

	
	31
	Retained earnings
	4,800
	

	
	
	     Dividends
	
	4,800


 
Balance of Retained earnings after closing entries:
b)  

	Beginning Balance
	$10,925

	Add Net Income
	9,450

	Less Dividends
	(4,800)

	Ending Balance
	$15,575


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P4
 

[Question]

239. Following are selected accounts and their balances for a company after the adjustments as of May 31, the end of its fiscal year. (All accounts have normal balances.)
 

	Retained earnings
	$30,000

	Dividends
	6,000

	Fees earned
	20,000

	Salaries expense
	7,000

	Insurance expense
	350

	Utilities expense
	75

	Supplies expense
	500

	Supplies
	400

	Salaries payable
	300

	Depreciation expense
	425


 
Prepare all the necessary closing entries for this company. 

Answer:

  

	Fees Earned
	20,000
	

	     Income Summary
	
	20,000

	
	
	

	Income Summary
	8,350
	

	     Salaries Expense
	
	7,000

	     Insurance Expense
	
	350

	     Utilities Expense
	
	75

	     Supplies Expense
	
	500

	     Depreciation Expense
	
	425

	
	
	

	Income Summary
	11,650
	

	     Retained earnings
	
	11,650

	
	
	

	Retained earnings
	6,000
	

	     Dividends
	
	6,000


 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P4
 
[Question]

240. The adjusted trial balance of the Thomas Company follows:
 

	Thomas Company

Adjusted Trial Balance

December 31

	
	Debit
	Credit

	Cash
	8,000
	

	Prepaid insurance
	2,400
	

	Equipment
	18,000
	

	Accumulated depreciation – Equipment 
	 
	3,600

	Salaries payable
	
	2,000

	Unearned repair fees
	
	1,200

	Common stock
	
	4,000

	Retained earnings
	
	7,400

	Dividends
	4,000
	

	Repair fees earned
	
	27,500

	Salaries expense
	10,000
	

	Depreciation expense
	1,800
	

	Insurance expense
	1,500
	

	Totals
	45,700
	45,700


  
Prepare the closing entries for Thomas Company. 

Answer:

 

	Dec.
	31
	Repair Fees Earned
	27,500
	

	
	
	     Income Summary
	
	27,500

	
	
	
	
	

	
	31
	Income Summary
	13,300
	

	
	
	     Salaries Expense
	
	10,000

	
	
	     Depreciation Expense
	
	1,800

	
	
	     Insurance Expense
	
	1,500

	
	
	
	
	

	
	31
	Income Summary
	14,200
	

	
	
	     Retained earnings
	
	14,200

	
	
	
	
	

	
	31
	Retained earnings
	4,000
	

	
	
	     Dividends
	
	4,000


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P4
 
[Question]
241. The items that follow appeared in the Income Statement columns of the work sheet prepared for Armstrong Delivery Service at current year-end. In addition, Retained earnings had a credit balance of $117,000 and Dividends had a debit balance of $30,000 at year end. Prepare closing journal entries for this company.
 

	
	Income Statement

	
	Dr.
	Cr.

	Delivery Revenue
	
	$98,900

	Office salaries expense
	$28,100
	

	Rent expense
	14,400
	

	Insurance expense
	1,200
	

	Office supplies expense
	1,900
	

	Depreciation expense Office equipment
	6,000
	

	Totals
	$51,600
	$98,900

	Net income
	47,300
	

	Totals
	$98,900
	$98,900


Answer:  

 

	Dec
	31
	Delivery Revenue
	98,900
	

	
	
	     Income Summary
	
	98,900

	
	
	
	
	

	
	31
	Income Summary
	51,600
	

	
	
	     Office Salaries Expense
	
	28,100

	
	
	     Rent Expense
	
	14,400

	
	
	     Insurance Expense
	
	1,200

	
	
	     Office Supplies Expense
	
	1,900

	
	
	     Depr. Expense – Office Equipment
	
	6,000

	
	
	
	
	

	
	31
	Income Summary
	47,300
	

	
	
	     Retained earnings
	
	47,300

	
	
	
	
	

	
	31
	Retained earnings
	30,000
	

	
	
	     Dividends
	
	30,000


 
Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P4
 
[Question]

242. Presented below are the year-end balances at December 31 of Laura's Laundry Service. (All accounts have normal balances.)

 

	Accounts receivable
	$ 12,000

	Accounts payable
	25,000

	Accumulated depreciation – Catering equipment
	30,000

	Advertising expense
	4,000

	Cash
	42,000

	Depreciation expense – Catering equipment
	12,000

	Insurance expense
	3,000

	Catering equipment
	125,000

	Catering service revenue
	200,000

	Notes payable
	65,000

	Common stock
	3,000

	Retained earnings
	14,000

	Dividends
	18,000

	Prepaid insurance
	1,500

	Salaries payable
	4,000

	Salary expense
	97,000

	Supplies
	1,500

	Supplies expense
	9,000

	Repair expense
	7,000

	Unearned catering service revenues
	500

	Utilities expense
	9,500


 
a. Prepare the necessary closing entries at December 31. 
b. Prepare a post-closing trial balance at December 31. 

Answer:
(a)
 

	Dec
	31
	Catering Service Revenues
	200,000
	

	
	
	     Income Summary
	
	200,000

	
	
	
	
	

	
	31
	Income Summary
	141,500
	

	
	
	     Advertising Expense
	
	4,000

	
	
	     Depreciation Expense – Catering Equip.
	
	12,000

	
	
	     Insurance Expense
	
	3,000

	
	
	     Salaries Expense
	
	97,000

	
	
	     Supplies Expense
	
	9,000

	
	
	     Repair Expense
	
	7,000

	
	
	     Utilities Expense
	
	9,500

	
	
	
	
	

	
	31
	Income Summary
	58,500
	

	
	
	     Retained earnings
	
	58,500

	
	
	
	
	

	
	31
	Retained earnings
	18,000
	

	
	
	     Dividends
	
	18,000


 

(b)
  

	Laura’s Catering Service

Post-Closing Trial Balance

December 31

	Account
	Debit
	Credit

	Cash
	$ 42,000
	

	Accounts receivable
	12,000
	

	Prepaid insurance
	1,500
	

	Supplies
	1,500
	

	Catering equipment
	125,000
	

	Accumulated depreciation – catering equipment
	
	$ 30,000

	Notes payable
	
	65,000

	Accounts payable
	
	25,000

	Salaries payable
	
	4,000

	Unearned service revenues
	
	500

	Common stock
	
	3,000

	Retained earnings ($14,000 + $58,500 - $18,000)
	
	54,500

	Totals
	$182,000
	$182,000


 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P4
Learning Objective: 03-P5
 
[Question]

243.  Below is Adventure Travel's adjusted trial balance as of the end of its annual accounting period:
 

	Adventure Travel

Adjusted Trial Balance

December 31

	
	Dr.
	Cr.

	Cash
	$ 25,000
	

	Accounts receivable
	15,000
	

	Office supplies
	4,300
	

	Office equipment
	29,600
	

	Accumulated depreciation – Office equipment
	
	$  5,000

	Long-term notes payable
	
	25,000

	Common stock
	
	10,000

	Retained earnings
	
	20,260

	Dividends
	1,000
	

	Fees earned
	
	75,000

	Salaries expense
	32,800
	

	Rent expense
	16,800
	

	Depreciation expense – Office equipment
	3,960
	

	Advertising expense
	4,000
	

	Office supplies expense
	2,800
	

	Totals
	$135,260
	$135,260


 

a. Prepare the necessary closing entries. 
b. Prepare a post-closing trial balance. 

Answer:

(a)
 

	Fees Earned
	75,000
	

	     Income Summary
	
	75,000

	
	
	

	Income Summary
	60,360
	

	     Salaries Expense
	
	32,800

	     Rent Expense
	
	16,800

	     Depreciation Expense – Office Equip
	
	3,960

	     Advertising Expense
	
	4,000

	     Office Supplies Expense
	
	2,800

	
	
	

	Income Summary
	14,640
	

	     Retained earnings
	
	14,640

	
	
	

	Retained earnings
	1,000
	

	     Dividends
	
	1,000


 

(b)
 

	Account
	Debit
	Credit

	Cash
	$25,000
	

	Accounts receivable
	15,000
	

	Office supplies
	4,300
	

	Office equipment
	29,600
	

	Accumulated depreciation – Office equipment
	
	$  5,000

	Long-term notes payable
	
	25,000

	Common stock
	
	10,000

	Retained earnings ($20,260 + $14,640 - $1,000)
	
	33,900

	Totals
	$73,900
	$73,900


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 03-P4
Learning Objective: 03-P5
 
[Question]

244. Manning, Co. collected 6-months' rent in advance from a tenant on November 1 of the current year.  When cash was collected, the following entry was made: 
 

	Nov. 01
	Cash
	15,000
	

	
	     Rent Revenue Earned
	
	15,000


 

Prepare the required adjusting entry at December 31 of the current year. 

Answer:

 

	Dec. 31
	Rent Revenue Earned
	10,000
	

	
	     Unearned Rent Revenue
	
	10,000


 
Feedback: ($15,000/6 mo. = $2,500/mo; 4 mo. unearned = 4 x $2,500 = $10,000)

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P6
 
[Question]

245. On October 1 of the current year, Morton Company paid $9,600 cash for a one-year insurance policy that took effect on that day. On the date of the payment, Morton recorded the following entry:
 

	Oct. 01
	Insurance Expense
	9,600
	

	
	     Cash
	
	9,600


 
Prepare the required adjusting entry at December 31 of the current year. 

Answer:

 

	Dec. 01
	Prepaid Insurance
	7,200
	

	
	     Insurance Expense
	
	7,200


 
Feedback: ($9,600/12 mo. = $800/mo.; 9 mo. prepaid = 9 x $800 = $7,200)

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P6
 
[Question]

246. Use the following partial work sheet from Matthews Lanes to prepare its income statement, statement of changes in retained earnings and a balance sheet

   

	MATTHEWS LANES

Work Sheet

For Year Ended June 30

	Account
	Income Statement
	Balance Sheet

	
	Dr
	Cr
	Dr
	Cr

	Cash
	
	
	11,275
	

	Accounts Receivable
	
	
	1,750
	

	Office Supplies
	
	
	800
	

	Prepaid Insurance
	
	
	3,400
	

	Scoring Equipment
	
	
	130,000
	

	Accumulated depreciation – 

     Scoring equipment
	
	
	
	21,700

	Salaries payable
	
	
	
	200

	Common stock
	
	
	
	20,000

	Retained earnings
	
	
	
	30,000

	Dividends
	
	
	46,425
	

	Bowling revenue
	
	137,675
	
	

	Depreciation expense – 

     Scoring equipment
	10,825
	
	
	

	Salaries expense
	1,800
	
	
	

	Insurance expense
	200
	
	
	

	Rent expense
	1,600
	
	
	

	Office supplies expense
	400
	
	
	

	Repairs expense
	350
	
	
	

	Telephone expense
	750
	
	
	

	Totals
	15,925
	137,675
	193,650
	71,900

	Net income
	121,750
	
	
	121,750

	Totals
	137,675
	137,675
	193,650
	193,650


Answer:

  

	MATTHEWS LANES

Income Statement

For Year Ended June 30

	Bowling Revenue
	
	$137,675

	Expenses:
	
	

	     Depreciation expense –

       Scoring equipment
	$10,825
	

	     Salaries expense
	1,800
	

	     Insurance expense
	200
	

	     Rent expense
	1,600
	

	     Office supplies expense
	400
	

	     Repairs expense
	350
	

	     Telephone expense
	750
	

	     Total expenses
	
	15,925

	Net Income
	
	$121,750


	MATTHEW LANES

Retained Earnings Statement

For the Year Ended June 30

	Retained earnings, January 1
	$  30,000

	Add: Net income
	121,750

	Less: Dividends
	(46,425)

	Retained earnings, December 31
	$105,325


  

	MATTHEWS LANES

Balance Sheet

June 30

	Cash
	
	$11,275

	Accounts receivable
	
	1,750

	Office supplies
	
	800

	Prepaid Insurance
	
	3,400

	Auto-Score equipment
	$130,000
	

	Accumulated depreciation –

     Scoring equipment
	(21,700)
	108,300

	Total assets
	
	$125,525

	
	
	

	Liabilities
	
	

	Salaries payable
	
	$    200

	Equity
	
	

	Common stock
	$ 20,000
	

	Retained earnings
	105,325
	

	Total equity
	
	125,325

	Total liabilities and equity
	
	$125,525


 

 Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 03-P7
 
 [Question]

247. The adjusted trial balance of E. Pace, Consultant is entered on the partial work sheet below. Complete the worksheet using the following information: 
a. Salaries earned by employees that are unpaid and unrecorded, $500.
b. An inventory of supplies showed $800 of unused supplies still on hand.
c. Depreciation on equipment, $1,300.


	E. Pace, Consulting

Work Sheet

For the year ended December 31

	Account
	Unadjusted Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income Statement

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	$14,000
	
	
	
	
	
	
	

	Supplies
	1,000
	
	
	
	
	
	
	

	Equipment
	11,000
	
	
	
	
	
	
	

	Accum. Depr. – Equip.
	
	$2,000
	
	
	
	
	
	

	Accounts payable
	
	500
	
	
	
	
	
	

	Salaries payable
	
	
	
	
	
	
	
	

	Common Stock
	
	2,000
	
	
	
	
	
	

	Retained earnings
	
	4,500
	
	
	
	
	
	

	Dividends
	1,500
	
	
	
	
	
	
	

	Fees Earned
	
	30,000
	
	
	
	
	
	

	Salary expense
	7,500
	
	
	
	
	
	
	

	Rent expense
	4,000
	
	
	
	
	
	
	

	Supplies expense
	
	
	
	
	
	
	
	

	Depreciation expense
	
	
	
	
	
	
	
	

	Totals
	$39,000
	$39,000
	
	
	
	
	
	


  

Answer:   

	E. Pace, Consulting

Work Sheet

For the year ended December 31

	Account
	Unadjusted Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income Statement

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	$14,000
	
	
	
	14,000
	
	
	

	Supplies
	1,000
	
	
	(b) 200
	800
	
	
	

	Equipment
	11,000
	
	
	
	11,000
	
	
	

	Accum. Depr. – Equip.
	
	$2,000
	
	(c)1,300
	
	3,300
	
	

	Accounts payable
	
	500
	
	
	
	500
	
	

	Salaries payable
	
	
	
	(a) 500
	
	500
	
	

	Common Stock
	
	2,000
	
	
	
	2,000
	
	

	Retained earnings
	
	4,500
	
	
	
	4,500
	
	

	Dividends
	1,500
	
	
	
	1,500
	
	
	

	Fees Earned
	
	30,000
	
	
	
	30,000
	
	30,000

	Salary expense
	7,500
	
	(a) 500
	
	8,000
	
	8,000
	

	Rent expense
	4,000
	
	
	
	4,000
	
	4,000
	

	Supplies expense
	
	
	(b) 200
	
	200
	
	200
	

	Depreciation expense
	
	
	(c)1,300
	
	1,300
	
	1,300
	

	Totals
	$39,000
	$39,000
	2,000
	2,000
	40,800
	40,800
	13,500
	30,000

	Net income
	
	
	
	
	
	
	16,500
	

	Totals
	
	
	
	
	
	
	30,000
	30,000
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[Question]

248. A partially completed worksheet is shown below. The unadjusted trial balance columns are complete. Complete the adjustments, adjusted trial balance, income statement and balance sheet columns.

 

	Platen Company

Work Sheet

For the year ended December 31

	Account
	Unadjusted 
Trial Balance
	Adjustments
	Adjusted Trial Balance
	Income 
Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	40
	
	
	
	
	
	
	
	
	

	Accounts receivable
	
	
	
	
	
	
	
	
	
	

	Prepaid insurance
	25
	
	
	
	
	
	
	
	
	

	Supplies
	14
	
	
	
	
	
	
	
	8
	

	Office equipment
	340
	
	
	
	
	
	
	
	340
	

	Accum.Depr. – Office equip.
	
	45
	
	
	
	
	
	
	
	

	Accounts payable
	
	57
	
	
	
	
	
	
	
	57

	Rent payable
	
	
	
	
	
	
	
	
	
	

	Common stock
	
	100
	
	
	
	
	
	
	
	100

	Retained earnings
	
	32
	
	
	
	
	
	
	
	32

	Dividends
	35
	
	
	
	
	
	
	
	35
	

	Fees earned
	
	300
	
	
	
	
	
	380
	
	

	Rent expense
	60
	
	
	
	
	
	90
	
	
	

	Utilities expense
	20
	
	
	
	
	
	
	
	
	

	Insurance expense
	
	
	10
	
	
	
	
	
	
	

	Supplies expense
	
	
	
	
	
	
	
	
	
	

	Deprec. exp – Office equip.
	
	
	
	
	
	
	45
	
	
	

	Totals
	534
	534
	
	
	
	
	
	
	
	

	Net income
	
	
	
	
	
	
	
	
	
	

	Totals
	
	
	
	
	
	
	
	
	
	


 

Answer:  

	Platen Company
Work Sheet
For the year ended December 31

	Account
	Unadjusted Trial
Balance
	
Adjustments
	Adjusted Trial
Balance
	Income
Statement
	Balance
Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash………………….
	40
	
	
	
	40
	
	
	
	40
	

	Accounts receivable...
	
	
	(a) 80
	
	80
	
	
	
	80
	

	Prepaid Insurance……
	25
	
	
	(b) 10
	15
	
	
	
	15
	

	Supplies……………...
	14
	
	
	(c)   6
	8
	
	
	
	8
	

	Office equipment……
	340
	
	
	
	340
	
	
	
	340
	

	Accum. Depr., Office
   equipment………….
	
	
45
	
	
(d) 45
	
	
90
	
	
	
	
90

	Accounts payable……
	
	57
	
	
	
	57
	
	
	
	57

	Rent payable………...
	
	
	
	(e) 30
	
	30
	
	
	
	30

	Common stock………
	
	100
	
	
	
	100
	
	
	
	100

	Retained earnings……
	
	32
	
	
	
	32
	
	
	
	32

	Dividends……………
	35
	
	
	
	35
	
	
	
	35
	

	Fees earned…………..
	
	300
	
	(a) 80
	
	380
	
	380
	
	

	Rent expense………...
	60
	
	(e) 30
	
	90
	
	90
	
	
	

	Utilities expense……..
	20
	
	
	
	20
	
	20
	
	
	

	Insurance expense…...
	
	
	(b) 10
	
	10
	
	10
	
	
	

	Supplies expense…….
	
	
	(c)   6 
	
	6
	
	6
	
	
	

	Depr. Exp., Office 
      equipment………..
	
______
	
_____
	
(d) 45
	
______
	
__45
	
_____
	
__45
	
_____
	
_____
	
_____

	Totals………………...
	534
	534
	171
	171
	689
	689
	171
	380
	518
	309

	Net income…………..
	
	
	
	
	
	
	 209
	____
	____
	209

	
	
	
	
	
	
	
	380
	380
	518
	518


Feedback: a Adjusted fees earned - unadjusted fees earned = adjustment to fees earned 
$380 - $300 = $80; Debit Accounts receivable; credit Fees earned
b. Debit Insurance expense; credit Prepaid insurance
c. Unadjusted supplies - adjusted supplies = supplies expense
$14 - $8 = $6; Debit Supplies expense; credit Supplies
d. Debit Depreciation expense; credit Accumulated depreciation
e. Debit Rent expense; Credit Rent payable. 
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[Question]

249. Shown below are selected data taken from the unadjusted and adjusted trial balances for the Simonson Company for the current year ended December 31. Determine the items A through H below.

 

	Simonson Company

Trial Balances

December 31

	Account
	Unadjusted Trial

Balance
	Adjusted Trial

Balance

	
	Debit
	Credit
	Debit
	Credit

	Cash
	10,000
	
	(A)
	

	Accounts receivable
	88,270
	
	90,770
	

	Office supplies
	700
	
	(B)
	

	Prepaid insurance
	(C)
	
	2,500
	

	Office equipment
	49,600
	
	(D)
	

	Accumulated depreciation – Office equipment
	
	(E)
	
	10,260

	Accounts payable
	
	36,400
	
	36,400

	Salaries payable
	
	0
	
	2,700

	Common stock
	
	(F)
	
	40,000

	Retained earnings
	
	
	
	36,370

	Revenue earned
	
	(G)
	
	542,500

	Advertising expense
	15,000
	
	15,000
	

	Depreciation expense – Office equipment
	0
	
	2,160
	

	Insurance expense
	0
	
	4,300
	

	Office supplies expense
	0
	
	480
	

	Rent expense
	28,500
	
	28,500
	

	Salaries expense
	462,000
	
	(H)
	

	
	
	
	
	


 


Answer:  

 

	Simonson Company

Trial Balances

December 31

	Account
	Unadjusted Trial

Balance
	Adjusted Trial

Balance

	
	Debit
	Credit
	Debit
	Credit

	Cash
	10,000
	
	(A) 10,000
	

	Accounts receivable
	88,270
	
	90,770
	

	Office supplies
	700
	
	(B) 220
	

	Prepaid insurance
	(C) 6,800
	
	2,500
	

	Office equipment
	49,600
	
	(D) 49,600
	

	Accumulated depreciation – Office equipment
	
	(E) 8,100
	
	10,260

	Accounts payable
	
	36,400
	
	36,400

	Salaries payable
	
	0
	
	2,700

	Common stock
	
	(F) 40,000
	
	40,000

	Retained earnings
	
	
	
	36,370

	Revenue earned
	
	(G) 540,000
	
	542,500

	Advertising expense
	15,000
	
	15,000
	

	Depreciation expense – Office equipment
	0
	
	2,160
	

	Insurance expense
	0
	
	4,300
	

	Office supplies expense
	0
	
	480
	

	Rent expense
	28,500
	
	28,500
	

	Salaries expense
	462,000
	
	(H) 464,700
	

	Totals
	
	
	
	


 

 Feedback: 
a. No adjustments to cash
b. $700 - Office supplies expense = $700 - 480 = 220
c. Unadjusted prepaid insurance - insurance expense = 2,500
Unadjusted prepaid insurance = $4,300 + $2,500 = $6,800
d. No adjustments to office equipment.
e. Unadjusted accumulated depreciation + depreciation expense = $10,260;
Unadjusted accumulated depreciation = $10,260 - $2,160 = $8,100
f. No adjustment to capital
g. Increase in accounts receivable = 2,500
Unadjusted revenue + $2,500 = $542,500; Unadjusted revenue = $542,500 - $2,500 = $540,000
h. Unadjusted salary expense + salary payable accrued = Adjusted salary expense
$462,000 + $2,700 = $464,700 
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Fill in the Blank Questions
 

[Question]

250. Companies experiencing seasonal variations in sales often choose a fiscal year corresponding to their ________________________ year. 
Answer:  Natural business
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[Question]

251. ______________________ are required at the end of the accounting period because certain internal transactions and events remain unrecorded. 
Answer:  Adjusting entries
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[Question]

252. Accrual accounting and the adjusting process rely on two principles: the ___________________ principle and the ________________________ principle. 
Answer:  Revenue recognition; matching
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[Question]

253. ______________________ basis accounting means that revenues are recognized when cash is received and that expenses are recorded when cash is paid. ______________________ basis accounting means that the financial effects of revenues and expenses are recorded when earned or incurred. 
Answer:  Cash; Accrual
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[Question]

254. The ______________ refers to the steps in preparing financial statements for users. 
Answer:  Accounting cycle
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[Question]

255. Intangible assets are long-term resources used to produce or sell products and services; they generally lack ______________ and their benefits are highly ____________. 
Answer:  Physical form; uncertain
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[Question]

256. The current portion of long-term debt is classified with the _________________________. 
Answer:  Current Liabilities
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[Question]

257. If a prepaid expense account were not adjusted for the amount used, on the balance sheet assets would be _______________ and equity would be __________. 
Answer:  Overstated, overstated
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[Question]

258. Profit margin = ___________________ divided by net sales. 
Answer:  Net income
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[Question]

259. A current ratio of 2:1 suggests that a company has ____________ current assets to cover current liabilities. 
Answer:  Sufficient
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[Question]

260. The ________________________________ depreciation method allocates equal amounts of an asset's cost to depreciation during its useful life. 
Answer:  Straight-line
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[Question]

261. __________________________ is the process of allocating the cost of plant assets to their expected useful lives. 
Answer:  Depreciation
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[Question]

262. A _____________ account is an account linked with another account, having an opposite normal balance and reported as a subtraction from that other account's balance. 
Answer:  Contra
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[Question]

263. __________________ expenses are those costs that are incurred in a period but are both unpaid and unrecorded. 
Answer:  Accrued
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[Question]

264. A(n) _______________________ is a listing of all of the accounts in the ledger with their account balances before adjustments are made. 
Answer:  Unadjusted trial balance.
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[Question]

265. The _____________________ form of balance sheet lists the asset accounts on the left side and the liabilities and equity accounts on the right side. The ______________________ form of balance sheet lists items vertically with assets followed by liabilities then equity accounts. 
Answer:  Account; report
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[Question]

266. A company's post-closing trial balance has a debit total of $475,000 and a credit total of $457,000. This indicates that __________________________. 
Answer:  An error was made in the closing process.
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[Question]

267. A ____________________ is useful in preparing interim statements and in showing the effects of proposed transactions. 
Answer:  Worksheet
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